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CLASS X

ENGLISH PRACTICE QUESTIONS
CHAPTER 7: GLIMPSES OF INDIA

Q1l. Comment on the significance of bread and a bread baker in a
traditional Goan village?
Ans. Bread is a permanent item of a Goan meal and the baker is an
important member of the Goan community. This we can definitely say
because bread is not only a part of their daily life but also of
important occasions like Christmas, festivals, weddings and
engagements. These occasions are incomplete without a special
preparation for each event, made from bread. Besides, sweet bread
‘bol’ is a special delicacy, served at festivals and cakes and bolin has
are a special charm at Christmas. A baker’s furnace is therefore
indispensable in a traditional Goan village.
Q2. The people of Coorg have a tradition of courage and bravery.
How has it been recognized in modem India?
Ans. The people of Coorg are known for their high energy, courageous
and adventurous sports like canoeing, rappelling, rock climbing and
mountain biking, trekking, etc. The Coorg Regiment is one of the
most decorated in the Indian Army. The first Chief of Indian Army,
General Cariappa, was a Coorgi. Even now Kodavus are the only
people in India permitted to carry firearms without a license.
Q3. What details do you gather about tea from the lesson, ‘Tea
from Assam’?
Ans. Tea was first drunk in China. Even the words ‘Chai’ and ‘Chini’
are from Chinese. It goes back to 2700 B.C. In the 16th century tea
came to Europe. There are unlimited tea fields in Assam. Unlike the
other farms’ labourers, who might never carry the harvest on their
backs, the tea pluckers, i.e., the groups of women were there hanging
bamboo baskets on their backs. They pluck the newly grown fresh tea
leaves from the plants and store them in their baskets. They also
wear plastic apron.

Chapter 9. MADAM RIDES THE BUS
Q4 .In such a fast moving world when we hear so many incidents
happening with people, do you think Valli did right by not telling
her mother about the bus journey?
Ans. No, I don’t think that Valli did the right thing in travelling alone



to the town without informing her mother. By doing this, she put
herself in a vulnerable position as she could have easily been a victim
of child abuse had she come in contact with wrong people. In fact,
she was lucky to return home safely. Children should always travel
along with their parents or elders as they are easy targets for
criminals. We hear a lot of instances of crime committed against
children these days like kidnapping, child abuse, molestation, rape
etc. Valli could have expressed her desire of travelling in the bus to
her mother. I am sure that her mother would have fulfilled her wish
by talking her on a bus ride.

Q.5. The people and surroundings are a great book to learn. Valli
in the lesson ‘Madam Rides the Bus’ learns a lot from others.
Mention the traits of her character which help her to learn from
her surroundings.

Ans. Valli dreamt of riding on the bus. Her eagerness to fulfill her
dream fired her curiosity. This curiousness led her to listen to the
conversations of people going on the bus ride and asking discreet
questions so that she could gather as much information as she can,
regarding the bus journey. On the bus journey, Valli acted confidently
and behaved maturely. She did not consider herself to be any less
than an adult. She was focused on fulfilling her dream and did not
get tempted to go outside the bus and explore the town when the bus
reached the town. On the return journey, she learnt about death
when she came to terms with the dead cow. This made her aware of
the fact that death is a part of life and should be accepted as it is a
natural phenomenon. Thus, the bus journey made her learn a lot of
things.

Q6. Age is not a barrier when it comes to doing something
different and great. Which characteristics of Valli help her
achieve the wonder of visiting the town at such a tender age?
Ans. In today’s era, age is no more a barrier. Children are doing
wonders at a very young age. Same goes with Valli. At an age of 8
years, Valli was able to pursue her dream all alone by travelling in
the bus to town. She was no different from others, except that she
had certain characteristics that made her fulfil her dreams. Valli was
a very confident and a bold girl. She had knowledge of proper
planning and execution. She controlled her wishes to save money for



the bus ride. Also, she was a very good observer and learner. All these
qualities made her realise the dream of visiting the town. Hence, one
should always remember that there is no age to learn and experience
new things.

Chapter 10. THE SERMON AT BENARES

Q7. How do you usually understand the idea of selfishness? Do
you agree with Kisa Gotami that she was ‘selfish’ on her grief? Is
it natural for people to be selfish at times?

Answer: ‘Selfishness’ means when a person does something only for
his own benefit or think only about himself/ herself. Kisa Gotami was
selfish in wanting her dead son to be alive. It was a mother’s love
which had blinded her. She was wrong in wanting that. She could not
see the reality of life. It is perfectly natural for anyone to be selfish at
times. When this desire becomes harmful to others or the demands
become unrealistic, it is wrong. A little bit of selfishness is there in
generally everyone and it is natural to be so.

Q8. The Buddha said, ‘The world is afflicted with death and
decay, and therefore the wise do not grieve, knowing the terms
of the world.’ Do you think the statement is appropriate even for
today’s life? Write your views in the context of the above
statement.

Answer: ¢ Sakyamuni’s ’ first Sermon at Benares was to accept death
as a fact, as a truth that cannot change Grieving and lamenting
cannot lessen the pain or revive a dead one, but only make life more
difficult. ‘Man is mortal’, is a harsh reality which is as steadfast as
the various other natural phenomena. The cycle of birth and death is
eternal and continues ceaselessly. Acceptance of this truth is
important and in the light of the transient nature of life, one must
strive to do at least one good deed every day and live life to the fullest.
Q9. Life is full of trials and tribulations. Kisa Gotami also passes
through a period of grief in her life. How does she behave in
those circumstances? What lesson does a reader learn from the
story of her life? Give any two points how you would like to act
in the midst of adverse circumstances.



Answer: Life is full of trials and tribulations. Kisa Gotami also passes
through a grief in her life when her only son died. She went from
house to house in search of a medicine to cure him. She had become
selfish in wanting her son back, but later she realized that man is
immortal. The lesson we learn from her story is that peace of mind
cannot be obtained by grieving. I would try to overcome my sorrow
and accept the fact that human life is mortal, when faced with such a
situation.
CHAPTER 11: THE PROPOSAL

Q10. Anton Chekov has used humour and exaggeration in the
play to comment on courtship in his times. Illustrate with
examples from the lesson, “The Proposal”. Also mention the
values, you think, any healthy relationship requires.

OR
The principle ‘forgive and forget’ helps a lot is maintaining
cordial relations with our neighbors. Do you think Chubukov
conveys this message in the play “The Proposal’?
Ans. Lomov and Natalaya meet for a serious purpose, i.e., to talk
about marriage that decides the progress of one’s life as a member of
the conventionally established society. But the purpose of their
meeting gets lost on two consecutive occasions because Lomov’s faith
in the values of his society disrupts his approach to the topic of
marriage. He learns that the girl and her father like him, but, instead
of proposing to marry her and discussing how their marriage should
be organised, he goes on to talk about properties, relations, family
histories, and pets, draws them into an unnecessary argument, and
antagonises both of them. Finally, Chubukov marries Lomov and
Natasha by force before another problem crops up. Thus the play
ends in a comic note, just because the couple gets together with their
father to celebrate their marriage while the dispute over the pets is
still continuing. For any healthy relationship there should be mutual
understanding and respect. Quarreling over trivial issues like dog
cannot guarantee longevity of a relationship.



Q1l1. Is Natalaya really a lovesick cat as called by her father? If
it is so, why does she quarrel with Lomov?

Ans. Natalaya was a young unmarried girl of twenty five years. She
lived in the neighbourhood of Lomov, a young unmarried man. She
was an excellent housekeeper and was not bad looking. She wanted
love in her life. Her father called her a lovesick cat. Lomov said that
she was well educated, but she did not seem to be so. She was very
quarrelsome and abusive by nature. She began a bitter quarrel with
Lomov over a piece of land that had little value. She said that those
meadows were not much worth to her but she could not stand
unfairness. But when she learnt that Lomov had come to propose to
her, she forgot all fairness and unfairness. She began to wail over the
lost chance. She forced her father to call him back. But in no time,
she started quarrelling with him again. It was on their dogs. Both
claimed their respective dogs to be of a superior breed.

Q12. Justify the title ‘The Proposal’.

Ans. The title of the play ‘The Proposal’ is very appropriate. A young
man, Lomov wants to propose Natalya for marriage. He goes to her
house for the same. Being confused, he doesn’t propose at once. He
beats about the bush. He speaks irrelevantly. As Natalya doesn’t
know that he has come to propose her, she thinks that he has come
to claim oxen meadows as his own, she starts quarrelling. This
results in one after another quarrel. After her father Chubukov
reconciles; Natalya comes to know that he has come to propose her.
Then at once she forgets the issue of fighting. Then the proposal is
made and accepted. Finally, they get engaged.

Q13. Neighbours must have a cordial relationship which Lomov
and Natalya do not have. Describe thefirst fight between them.
Ans. Lomov and Natalya were next-door neighbours. One day, Lomov
came to Natalya to propose her. Natalya, who didn’t know that he had
come to propose her, thought that he had come to claim Oxen
Meadows as his own. When Chubukov, Natalya’s father, interfered
with them and also pleaded that theOxen Meadows were the
properties of Chubukov, the fight aggravated. For a few moments,
Lomov’s real purpose was overshadowed by that issue and he
continued the bias that meadows belonged to his aunt’s grandmother
who gave them to the peasants of Chubukov’s grandfather on the



condition that they would prepare bricks for her. So, how it could be
considered as Natalya’s property? Though both Lomov and
Chubukov, Natalya’s father, were very rich landlords, they quarreled
over a tiny piece of land, called, ‘Oxen Meadows’. But that was not
the end of quarrel. Natalya didn’t agree with Lomov’s explanation.
Instead, she offered to make a present of it to Lomov who, in turn,
rejected the suggestion. And the quarrel continued endlessly. Such
first meeting of Lomov and Natalya had in itself seeds of things
(quarrels over petty issues) to be expected in their married life.

Q14. Give a character sketch of Lomov.

Ans.Lomov was a funny man. Physically he was weak but financially
he was sound. He was a rich bachelor who wanted to marry Natalya.
He was not really in love with Natalya but wanted to marry her
because he thought that she was a good-housekeeper and beautiful.
He said if he desired for an ideal or real love, he would never get
married. He felt that he was 35, now he must lead a quiet and regular
life. When he went to propose her, he got diverted. Actually, Natalya
thought that he had come to claim oxen meadows as his own, quarrel
took place between them. One more time they quarrelled over petty
issues. Before finally proposing to her, he fainted and after that
shouted a lot but finally succeeded to get acceptance.

Q15. Descibe the incidents of humour in the play, 'The Proposal’

Ans. Dear friends, today I would like to address those students who
make fun of the students who are weak, ugly or poor. I have come to
know that some of us make fun of some girls who are not good
looking. We should all remember that if someone is poor or ugly, it is
not his/her fault. We are what God has made us. We should not go
for outer beauty. We should recognise the inner qualities of a person
and appreciate them. One may be ugly in appearance but one’s
creativity and intelligence may be beyond expectation. We should not
insult anybody just because one is poor or ugly. We have no right to
show disrespect to someone and humiliate him/her. I hope now
onwards we all are friends and will show respect to all. The tendency
of making fun of weak, ugly or poor should be given up right now. Let
us be good human beings.



POEM 5: AMANDA
Q16. ‘Living with one’s head in the air’ is what Amanda
epitomizes. Justify with examples from the poem.
Ans. Instead of paying attention to the diktat of not biting her nails
and sitting upright, Amanda daydreams about an emerald sea where
she is the sole mermaid. Pensively, Amanda imagines herself a
neglected urchin-cum-orphan, patterning soft dust with unshod feet.
Instead of hearing the warnings about not eating the chocolate as it
will bring on the acne, and listen attentively, Amanda imagines she is
Rapunzel, with long tresses.
Q17- How does Amanda tackle the nagging nature of her
parents? Explain with examples from the poem. What values
does it portray about Amanda?
Ans: Amanda is a small girl who is termed as moody for her careless
behaviour. But it is very surprising to know that this is her defence
mechanism to shield against her nagging parents. Amanda is getting
instructions from her parents, which become too much to handle for
the small girl. She is told not to eat her nails and sit in a proper
position. Amanda’s response to it is her work of imagination where
she is a mermaid drifting effortlessly by the languid river.
Q18- Amanda wants to be Rapunzel but she does not want to let
her hair down. Does this show her solidarity or obstinate nature?
Ans: Amanda wants to be Rapunzel because she knew that in the
story, there was no staircase to enter the tower. It was only possible
with the help of Rapunzel’s long hair that she would let down to help
others to climb. Amanda feels that life in the tower will be very calm
and nice and also makes it a point to never let her hair down for
anyone as she doesn’t want to get disturbed by visitors. This shows
her solidarity.



POEM6. ANIMALS
Q19. What are the ‘tokens’ that the poet says he may have
dropped long ago, and which the animal shave kept for him?
Ans: The ‘“tokens’ are of mutual love and understanding that the
ancestors of the poet used to share with the animals thousands of
years ago. The poet says that they dropped them and the animals
kept them.
Q20. ‘Not one kneels to another, nor to his kind that lived
thousands of years ago.” How does the poet satirical comment on
human being in these lines?
Ans: The poet wishes to convey that the animals do not kneel before
others especially before the ones who lived thousands of years ago.
But the human beings indulge in hero worship and kneel to other
human beings, who might have lived thousands of years ago. The
poet satirical comments on humans and ways of human worshipping
other humans and still dissatisfied.
Q21. The poet in the poem ‘Animals’ laments the loss of certain
values on the part of human beings, whereas animals seems to
have retained them and are self-contented. Analyse the cause of
degeneration of values in today’s hard times.
Ans: In the modern civilized world, human beings have achieved a lot
of material values but lost the real virtues. The more developed and
modern human beings became, the more they lost the essence of
their characters. Animals, whereas, never adapted to any material
goods and always remained natural. This natural aspect of animals
has helped them maintain their values. Humans, in order to possess
more and more have forgotten kindness and innocence. They indulge
in all unethical practices which are devoid of any good virtue, hence
the poet laments (complaints) the loss of good values on part of
human beings.

POEM7. THE TALE OF CUSTARD THE DRAGON
Q22. The dragon, custard was considered a coward. The humble
dragon proved his bravery in adversity. Analyze that certain
qualities like bravery and courage are situational and
spontaneous. Express your views with reference to the poem.



Ans. Custard’s humbleness won every reader’s heart as he showed
true bravery and did not boast like Belinda and her other pets.
Everyone boasted of their bravery but when they faced real danger, it
was only Custard, who had the courage to face it. And he proved his
bravery by not running away and facing the pirate and killing him.
Qualities like bravery and courage can only be tested when someone
is actually put in a dangerous situation. Therefore, these qualities are
situational as becomes clear from Custard’s example. Custard looked
for comfort all the time but this did not mean that he was a coward.
Q23. ‘Bravery is spontaneous’ Explain with reference to the
poem.

Ans. Custard was truly brave and did not boast like Belinda and her
other pets. Custard had the courage to face real danger, whereas
everyone only boasted of their bravery. Custard faced the pirate and
killed him, and he proved it by not running away. Bravery and
courage are qualities which are, exhibited when someone actually
faces a dangerous situation. Thus these qualitie are spontaneous,
taking the example of custard.

Q24. Is there a hidden message that the poet is wishing to
convey or do you think that entertainment is the sole purpose of
writing this poem?

Ans. The interpretation of the message in the poem may vary for
different readers. The situation narrated underscores a basic truth
that the real test of courage is during a crisis. The dragon though
never put his strength on display but exhibited it in action when it
was required to do so.

BOOK: FOOTPRINTS WITHOUT FEET

CHAPTER 6: MAKING OF A SCIENTIST
Q25. Obedience, interest and love for subject can turn a child to
become a great personality one day. Refer to the story of Ebright
who was loved by his mother so much, fulfills his desire and
becomes a great Scientist. Write about the statement expressing
your views.
Ans. Richard H. Bright as a student was always curious to know, he
was a determined child to perform better and the best. His devotion



and constant encouragement from his mother and teachers turned
him into a great scientist and later on a great personality.

Q26. How did Ebright show the science that he would do
amazing things when he would grow up imagine you are Ebright
what would you do?

Ans. Ebright was an excellent student he always wanted to learn. His
mother’s love and encouragement helped him a lot. His curiosity and
devotion to science made him to do amazing things. I would also do
like him.

Q27. A mother can make her child what he /she wishes to
become in life keeping in mind the role of Ebright Mother.
Explain.

Ans. Ebright’s Mother was a devoted lady she always took great care
of her son she developed his interest in learning she took him of trips
and bought telescopes microscopes cameras and other materials by
this way she helped her son.

Chapter7. NECKLACE

Q28. Mrs Loisel led such a life which is inspirational for women
as well as millions of people. What would you like to say about
this statement?

Ans. Mrs Loisel was an extremely beautiful woman who was married
to a clerk. She had her own way of leading a better life but fate was
against her .She could not lead luxurious life still her husband made
all possible efforts to make her happy. She had to do all the work of
family herself when they lost a necklace.

Q29. Mr Loisel proved himself a very good husband. He always
tried to help and please his wife and tried to convince her in all
possible manners. Discuss.

Ans. When we read the story THE NECKLACE we come to know
qualities of Mr Loisel who is the husband to Matilda. He earned not
so much but proved a better companion for his wife .He always tried
to convince her in all possible manners.

Q30. Never be over smart or over confident; lead your life as you
can. We should not try to compete with the higher people.
Comment.



Ans. One should live happily and not sad. We must enjoy life as it’s
very precious. There are people who are rich. Others may have cars,
big buildings still we need to live as per our limitations. Our mistakes
might bring sufferings or pain.

Q31. People should always live within their means. Aspirations
have no limits but one should never forget the ground realities.
Elaborate on the basis of chapter-“The Necklace”.

Ans. The chapter “The Necklace” brings out the fact beautifully that
people should always try to live within their means. Our desires have
no limits but we must see our circumstances and try to live within
our means. If we fail to accept the situation or put a stop to our
aspirations, we can certainly land ourselves into trouble. It is better
that we accept the life as it comes to us and do not keep on cribbing
about unhappy circumstances. As we read the story “The Necklace”,
we find that Matilda is not at all happy on getting married to a clerk.
She had wished her life to be luxurious. It is these aspirations and
frustration of hers which puts her in trouble and spoils rest of her
life. She does not work for solutions but rather complicates the
situation for her. It is very essential to understand the ground
realities and live accordingly. If Matilda had not borrowed a diamond
necklace for the party and kept it carefully, things would not have
been so complicated for her. Moreover, she did not confess the truth
to her friend. If she had done so, she would not have lived the life of a
pauper for a long period of her life.

Q32. The course of Loisel’s life changed due to the necklace.
Comment.

Ans. It took a decade to pay back the money they borrowed to buy
the necklace. And, it changed everything for them. They had to move
to the poorest quarter of the city. With no maids or assistance ,
Matilda had to cook, clean, mend, sew and bargain with the grocer
and butcher to save every sou( a French coin of low value) just for
mere survival. The husband had to work in the evening and night to
pay their debt. In this way, the course of the Loisel’s life changed due
to the necklace.

Q33. Mme Loisel’s disposition invites her doom. Comment in
the context of the text you have read.



Ans.Mme Loisel belongs to a family of clerks. Her assistance is quite
average. They live on meager income, enough for basic needs but not
to fulfill aspirations. She gets married to a clerk and is so caught up
with her dreams of wealth and pleasure that she is out of touch with
the truths of her real life. In order to keep up appearances and just to
flatter her pride, she blows up 400 hundred francs on a gorgeous
dress. And, not contended, she goes on borrowing a necklace from
her friend. And, all of this is just to impress the wealthy and the rich
with her beauty and glamour (even if on loan). No doubt, her pride is
flattered and her wish of fine dining, expensive dresses and jewels
satisfied but at a great price. Unfortunately, the necklace has lost and
the couple has to cough up their entire inheritance and borrow as
well to replace it. Repayment of the debt eats away the next ten years
of their youth. They live poor. All the household chores and care of a
life of poverty visits them. Hence, her disposition invites her doom
.Q34. Mme Forestier proved to be a true friend. Elucidate.
Ans.Mme Forestier turns out to be an interesting character. She
plays a vital role in the story. As a friend to Matilda, we find her to be
really genuine as she helps Matilda in the hour of her need. When
Mme Loisel Needs to borrow jewels, she turns to Mme Forestier.
Madam Forestier does not refuse. Displaying her generosity she
opens up the entire array of her jewels for Matilda to choose from.
Also, She is considerate when Loisel’s delay the return of the
necklace. Surprisingly, at the end of the story, she concludes the
entire narrative. Without even a moments delay and hesitation, she
reveals to Matilda that her necklace was just a fake. She is not at all
worried in the light of the fact that she may have to return the
necklace. It shows her honesty rather, she like a true friend feels bad
for Matilda at her unnecessary suffering. We find her sympathizing
with Mme Loisel. She is indeed a gem of a friend.

Q35. The story “The Necklace” teaches us many lessons which
form the crux of human values. Discuss.

Ans. The story “The Necklace” teaches us many lessons which form
the crux of human values. The very first thing it teaches us is the
need to be content in life. Matilda, though born into a family of clerks
and married to a petty clerk with the Board of Education, remains
unhappy. She suffers from the feeling that she is born for all



delicacies and luxuries, but has to live miserably in poverty. So, when
she has to attend the office party with her husband, she asks him for
money to get a new dress. Her husband sacrifices the money he has
saved to buy a gun to get her the dress. Then also she is not content.
She feels that she could look more beautiful with a jewel. She thus
borrows a necklace from her friend, thinking that it is made of
diamonds. At the party, she remains elegant, gracious, smiling and
absolutely happy. She was thus the prettiest of all. But this vanity is
short-lived and is the beginning of all troubles in her life. She loses
the necklace and she gets a new diamond necklace as its replacement
by borrowing heavily. Subsequently, she is pushed to live in poverty
as she slogs for ten years to save money to pay back the huge debt.
Then the horrible reality frightens her. She realizes how her false
pride has taken away her otherwise happy contended life. The story
thus discusses the negative effects of pride and vanity and stresses
the importance of being satisfied with what one has honesty, love and
sacrifice.

Chapter8. THE HACK DRIVER
Q36. Bill or Oliver easily manages to outwit the narrator? How
does he do so?
Ans- Bill or Oliver has a distinct personality himself. He has all the
arts with him to win the confidence of gullible people like the
narrator. He manoeuvers and pivots under the gent of friendliness.
The gullible narrator is easily convinced by Bill and asserts that he is
the only person who can help him find Lutkins. Bill completely
overpowers the narrator’s rational thinking such that he becomes an
easy target for the cunning Bill. The narrator became a puppet in
Bill's hands. His pretensions clouded the judgement of the narrator.
He under his guise introduced him to everyone and took him
everywhere. All the time that the narrator had to serve summon was
wasted and he had to return. However the next day, he got to know
that Bill was Lutkins himself. Therefore he was outwitted by the
cunning man.
Q37. “Appearances can be deceptive”. Explain this statement in
context with the story?



Ans- Appearances can be deceptive, sometimes one fails to recognise
the true personality of a man due to the different appearances one
ascribes to another. The narrator was young and energetic lawyer. He
had trusted Bill as he was looking an amiable person. Through Bill’s
appearance he had expected him to be generous and helpful .He
believed him blindly. He even told everything to him. He told him
about the purpose of his arrival in the village. He also felt comfort in
his company. On the contrary Bill proved false in his appearance. He
was a liar. His personality was all fake. He pretended to be honest
and helpful but he just played with the feelings of the narrator. In the
end he showed what he was in real life with his betrayal. The narrator
became a prey of him.
Q38. “Lutkins was an insensitive fellow; he hurt the feelings of
the narrator”. Justify it? Would you hurtthe feelings of someone
like this?
Ans- “Lutkins was an insensitive fellow, he hurt the feelings of the
narrator”, it is fully justified. Lutkins played with the emotions of the
narrator. He showed his insensitivity by making the narrator a
complete fool in public despite narrator’s innocence. He spent his
whole day with the narrator but he remained in the guise of Bill. He
never even tried to disclose his true identity. He played with the trust
and simplicity of the narrator. He rather laughed at narrator for the
blind faith. He even included all the villagers to make a fun of the
narrator. On the whole we can say that he was a cruel fellow in real
sense. No, I would not hurt the feelings of someone like this not even
in the dreams. Breaching the trust of someone is like a murder of
someone to me. So such thing should not be done to anyone.
Chapter 9. BHOLI
Q 39. “Dowry is a negation of a girl’s dignity” suggest some
measures that can be adopted to eradicate this evil from our
society?
Ans- Dowry is one of the many social evils that are still deep rooted in
our society. It is the negation of a girl’s dignity. Bholi was rejected
due to her looks by Bishamber. However, he was ready to marry her if
he was given a considerable sum of money as dowry. We should
remove this evil from our society. Dowry should be neither given nor
taken. Education is one tool that can help us in eradicating this evil



practice. Stringent laws should be formulated against the dowry
system. Moreover, parents should stop treating their daughters as
burdens. As Bholi got confidence by getting education, all other girls
will also gain strength to fight this evil practice. Bholi not only rejects
the marriage but also claims to work at the school. She became self
dependent in the end.

Q40. “The teacher can change the life of any person through
education” Justify this statement in thelight of the story Bholi.
Ans- The statement is fully justified in the light of the story Bholi.
Bholi was a slow child from the beginning. Due to her childhood
physical challenges, she looked different from other children. Her
speech was not clear and she used to stammer. That is why; she was
slower than other children. Even her parents called her dumb and
witless but when she was sent to school, her teacher changed her life
completely. Her teacher played a significant role in her life. Her
teacher gave her confidence and encouragement to learn. Bholi
became an educated and a bold girl due to her teacher. She was able
to take charge of her life and in the end she even denied to marry the
greedy fellow Bishamber. So we can say that it was love, compassion
and sympathy of her teacher that transformed the life of Bholi.

Q41. Bholi has multiple handicaps- she has pockmarks, she
stammers. How can we change the social attitudes towards the
differently abled?

Ans- Bholi is physically challenged. She is a slow girl .She has pock
marks and also stammers. What difference does it make? She is a
human being and she should also be treated and honoured like other
human beings. Disability of any kind is not an obstacle in one's life.
Helen Keller was blind but proved to be a successful writer at the
end. Sudha Chandran is an example of indomitable will who despite
losing one leg became a dancer of world Fame. The social attitude
towards these people should not be one of pity. They should be
appreciated that in spite of one's weakness, they are struggling hard
to survive. The society will have to change its attitude towards
differently able people.

Q42. “Dowry is a negation of the girl’s dignity”. Discuss with
reference to the story “Bholi”.

Ans. A girl is an individual in her own right. Equal opportunities in



life can help her become independent and strong. She is not a
burdensome object to be given away with money as compensation.
Thus, dowry negates the girl’s identity and self respect.

The story Bholi shows this in a dramatic manner. Bholi is thought to
be ugly and dumb by her parents. So, they are willing to pay dowry to
an old man with a limp. So that he marries her. Bholi, on the other
hand refuses to marry that man. She is educated, assertive and
capable of taking care of herself. She dedicates her life to service of
her parents and teaching at school. So, in the same manner, a girl
should behave when the situation is not praiseworthy or causes
trouble to

the society and girls. Nowadays, girls are empowering their thoughts
and freedom to speak because of education and equal rights in the
society. A social evil like dowry is not acceptable at any cost as it
affects the dignity of a girl. And girls have all the rights to say “No” to
the person who demands it to prove his masculinity.

Q43. Bholi chose a dignified life of service rather than
surrendering herself to a greedy old man for therest of her life.
Education provides the required stimulus to overcome one’s
personal barriers. Explainthe role of education in shaping the life
of a child with respect to the lesson “Bholi”.

Ans. Gone are the days when girl’s education was considered as an
unacceptable right as they were not allowed to come out of their
houses. But education is the Ans. to all social ills. Illiteracy and
ignorance bring nothing but poverty, suffering and misery. Bholi
lacks confidence initially because of her disabilities. She is silent,
timid and week in mind. Her ugliness and her stammer do not let her
progress. She is afraid to speak as others make fun of her .School
changes her life completely. It opens a new world of hope for her. Her
teacher treats her with love and kindness. Her affection and support
help Bholi to have faith in herself. She studies and grows into a
young confident woman. She knows her rights and she asserts them
as well. She refuses to marry a man who demands dowry. Thus,
being educated changes the life of Bholi. Here, Bholi represents all
the girls of society who take stand for their rights and know what is
right or what is wrong. This happens only due to the proper
education of girls. If a girl is educated, she can change the society



and nation. She is like the base of the family and imparts her
knowledge and experience to her family and next generation. So
education is the right and it is must for all girls.

Q44. Put the fear out of your heart and you will be able to speak
like anyone else”. These words of encouragement from the
teacher highlight the change in social attitude and
encouragement can help a child like Bholi to become confident
and face the world bravely. Taking help from the lesson “Bholi”
write how the social attitude towards Bholi made her an
introvert. What should be done to help such children to face the
world bravely?

Ans. Bholi suffered a weak mind due to her accident (falling from her
cot) during her infancy. She also started to stammer while speaking.
Then she became ugly due to pock- marks on her face and body on
contracting the smallpox disease. All these made her family and other
children treat her badly, resulting her becoming an introvert person.
To help such children face the world bravely, we must treat them
with love and affection and encourage them to join the mainstream
society. We must not mock their disabilities; instead we must give
them hope that they can be as good as the other children by
motivating and uplifting them. As we know that every child is special
and proper guidance and support can boost up the morals and
encourage them to do well in their lives. There are a lot of children
like Bholi in our society who need utmost care and affection from us.
And we can help them to improve their lives and to excel in future.
Q45. The chapter “Bholi” highlights the discrimination against
the girl child. Analyse.

Ans. Nature does not discriminate, but society does. From time
immemorial the world has discriminated against the girl child. The
chapter, “Bholi” throws up many such instances. Ramlal’s son goes
to school and college. His daughters are not educated but married off.
Her mother does not think it necessary to take Bholi’s consent for her
marriage. The groom is old and lame. Still he demands dowry. Her
father is ready to pay him also. It is the girl herself who raises voice
against this marriage. She is criticized and humiliated for standing
up for her dignity. But she is firm and decides the course of her life.



Q46. Why did Bholi at first agree to an unequal match? Why did
she later reject the marriage? What does this tells us about her?
Ans. Bholi agreed to an unequal match because she had heard her
parents discussing the marriage proposal. They said that she was
fortunate to get a bridegroom who was rich and was ready to marry
her without taking dowry. He was unaware of Bholi’s pock-marks and
dumbness. She had heard her mother say that if they did not accept
the proposal, Bholi might remain unmarried all her life. Later, Bholi
refused from the marriage because the bridegroom demanded five
thousand rupees as dowry from her father. Moreover, it was
unbearable for her to see her father pleading in front of him for the
sake of his daughter and family’s honour. Her self-respect made her
refuse from marrying a greedy coward.

ANALYTICAL PARAGRAPH WRITING

Question 1: Below is a graph given showing birth and death rates
in a country from 1901 to 2101. Write an analytical paragraph
(100-150 words).
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Answer:- graph shows birth and death rates starting from 1901 till
2101.



Since 1901, the birth rate has remained more than the death rate
until 2041. Birth rate was 20000 in 1901 and started increasing
gradually. It peaked in 1961 to around 65000. From 1961, birth rate
has fluctuated multiple times between 50000 and 60000. It is
expected to decline for the coming years reaching approximately
42000 by 2101.

On the other hand, the death rate stood at around 10000 in 1901
and then has increased steadily. It is expected to rise strikingly from
2021 before levelling off to approximately 60000 between 2061 and
2081. The graph indicates a slight decline in deaths in the year 2101.
The graph shows the huge gap between birth rate and death during
1961 to 2001. However, this gap is expected to reduce in the later
years. Overall, as opposed to the prevailing trends, the death rate will
be more than the birth rate in the later half of the 21st century.

ii) The graph below proves that even in the 21st century the
status of women is not equal to

that of men when it comes to occupying high positions in
various occupations. Read the graph

carefully and write its interpretation in about 120 words

WOMEN IN NATIONAL PARLIAMENT
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(13.5) Pacific
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(3.6) Arab States

10 —

ANSWER:- Women in National Parliament

While more women than men are being elected to Parliament around
the world, equality is still a

long way off, and the current progress is far too slow. The bar graph
clearly illustrates that even



in the 21st century the status of women is not equal to that of men
when it comes to occupying

high positions in various occupations. The lowest number of women
in National Parliament can

be seen in Arab States where it is only 3.6%. The percentage is a bit
better in Sub Saharan Africa

where it is 11% though it is again very low. The number of women in
National Parliament is

not very encouraging in the World and Pacific where it is 13.8% and
13.5% respectively. While

the percentage in America, Asia and Europe (excluding western
countries) is 15.3, 15.3 and 14.1

respectively. It is only the western countries where the graph shows a
picture of 38.1% women

in the Parliament. Overall, the status of women does not come at par
anywhere when it comes

to occupying high positions in various occupations.
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[II) The chart below displays data about the number of digital
devices purchased in Rishunagara cross the years 2016-2020.
Write a paragraph analyzing the given data.

Purchase of Digital Devices

ANSWER:- According to the given data, a large number of digital
devices was purchased in Rishu Nagar

across the years 2016-2020. The data indicates that more smart
phones were purchased in 2016



as compared to the computers which numbered approx - 35,000 in
2016. There was a gradual

rise in the purchase in 2017 when the number of smart phones rose
to 60,000 and computers to

59,000. The trend suddenly changed and a sharp rise was seen us.
The purchase of computers in

2018 which again dropped to approx. 45,000 in 2019. The year
showed a decline in the purchase

of smartphones as well. But the year 2020 brought hope and cheer
for the sellers when there

was again an upward trend in both smart phones and computers. To
sum up it can be said that

the purchase of digital devices across these fire years showed the
incline of people towards the

hi-tech devices.

(IV) Read the following excerpt from an article that appeared in
the magazine section of a local daily:

The ban on single-use plastic is impractical. The purpose of
articles like bags and packaging is

ultimately to make human life easier. Plastic articles do this
well, so they shouldn’t be banned.

Write a paragraph in about 120 words to analyze the given
argument. You could think about

what alternative explanations might weaken the given
conclusion and include rationale /

evidence that would strengthen / counter the given argument.
ANSWER:- Ban On Plastic

Single use plastic causes more harm to the environment than
benefitting it. Its toxic contents are

harmful for all whether they are human beings, animals or marine
creatures. In fact they cause

a decline in the healthy state of those also who produce it as it leads
to many illnesses. The

government has decided to put a blanket ban on single-use plastic
articles which is a wise step.



It is going to be helpful for our environment which is in a declining
state everyone must join in

this campaign to save our planet and to make it pollution free. More
of environment friendly

products should be used. The ban on these products is not
impractical. There is no denying the

fact that these products make our life easier but we should come up
for the welfare of all and

not be selfish. The ban will be useful in the long run.

(V) A survey was conducted by a school to discuss the role that
Information Technology/Computers

play in the growth and development of children. The data is
given below in the form of a pie

chart. Analyze the data in 100-120 words.
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ANSWER:- INFORMATION TECHNOLOGY V/S CHILDREN

A survey was conducted by XYZ school to discuss the role played by
Computers and Information

Technology in the growth and development of children. Only a margin
8% of the people opined

that computers enhance creativity thus showing that they were not in
favour of it. As many as

10% people believed that computers cause eye strain due to long
sitting hours of children in front of it where as 12% people were of the
opinion that children get access to so many sites that are
inappropriate for their age. In fact 30% people, believed that



Information Technology increases knowledge and helps in the growth
and development of a child as compared to 25% people who were of
the view that computers attract a child towards itself which results in
the reduction of their outdoor activities. Very few people (15%) had
the opinion that it helps academically. Hence, we can sum up that
53% of the people were in favour of computer usage

by children where there were still 47% who did not favour it.

LETTER WRITING:-

Question 1- You are Samina Zaveri, Class X, Vadodara, Gujarat.
You come across the following information
on a local library’s notice board.

Create Your Own Board Game Competition!
Create an educational board game,
and send it to us at
Teen-Toggle Games Pvt. Ltd, 307, Satija building, Colaba, Mumbai
by July 2022.
The top 10 winning board games will be featured on our international portal.
Attractive scholarships for the winners!

You wish to participate but require more information. Write a
letter to Teen-Toggle Games Pvt.Ltd.in about 120 words,
enquiring about rules, scholarship details and deadlines. Also
enquire about specifications for solo or group entries.

ANSWER:- 53-B, Ring Road

Vadodara

Guyjarat

January 12, 20XX

The Manager,

Teen Toggle Games Pvt. Ltd.

307, Satya Building

Coloba, Mumbai

Subject: Enquiry regarding Board Game Competition

Dear Sir

Referring to the information flashed on the library’s notice board, I
want to state that I wish to participate in the Board Game
Competition. So, I require some more information regarding the same
kindly provide the details of the following:



1. Rules of the competition for all the rounds

2. Scholarship details

3. Type of entry — solo or group entries

4. Mode of conduction — online or offline

5. Consolation Prizes [if any]

Kindly specify the deadline too. So that I can register myself before
the last date of the competition.

Thanking you in anticipation.

Yours faithfully,

Samina Zaveri

QUESTION 2:- You have lost your original certificates of class X
and XII. You want to get their duplicates issued

but you do not know the procedure. Write a letter to the
Chairman, CBSE, Preet Vihar, enquiring

about the fee to be deposited, mode of payment, time taken by
the board for issuing duplicate

certificates and any other formalities. You are Tarun / Taruna,
7/9, Kunj Apartments, Shimla (100-

120 words).

ANSWER:

7/9, Kunj Apartments (5)

Shimla

3 April 20xx

The Chairman

CBSE

Preet Vihar

Delhi

Subject: Query about issuing the Duplicate Certificates

Respected Sir

Through this letter of mine, I wish to inform you that while travelling
in a bus, I left my bag in a bus. The bag contained my original
certificates of X and XII. Now I have to apply for a job in a government
department.

Please let me know the procedure of issuing the duplicate certificates,
time taken by the Board and the fees to be deposited. My registration



no. is 4567/897 /HP and I have filed an FIR regarding the loss of my
bag.
Please do the needful as early as possible as it is a question of my
career.
Thank you in anticipation
Yours sincerely
Tarun Kumar
Question 3:- As a health conscious person, you have noticed an
advertisement in a newspaper on yoga classes in your
neighbourhood. Write a letter in 100-120 words to the Organiser,
Yoga for Public,
R.K. Puram, New Delhi requesting him/her to send you
information about the duration of the course and other relevant
details. You are Shweta/Srikar of 15, R.K. Puram, New Delhi.
15, R.K Puram (5)
New Delhi
7 August 20xx
The Organiser
Yoga For Public
R.K. Puram
New Delh
Subject: Enquiry about the Courses
Respected Sir
With reference to your advertisement in ‘The Times of India’ dated 5
August 20xx, I would like
to tell you that I wish to join the yoga classes organised by you.
Kindly furnish the following details:

e Duration of the course

* Timings of the classes

* No. of persons in each batch

* Any special class for girls

* Fee structure
[ am awaiting an early reply from your end so that I may join as early
as possible.
Thank you
Yours sincerely
Shweta



QUESTION 4:- You are Neeti/Rajan, a resident of 25/42, civil
Lines, and Kanpur. You are very much inspired to

Watch reality shows on dance at various channels on T.V. and
wish to join dance classes to learn

‘Salsa’. Write a letter in about 120 words to ShamakDawar (Salsa
Guru), Director, S.D. Group,

Model Town Delhi, enquiring about the dance classes, timings,
fees, duration, conditions for

admission,etc.

25/42, Civil Lines, (5)

Kanpur.

December 08, 20XX

Mr. ShamakDawar

Director, S.D. Group

Delhi

Subject: Enquiry about dance classes

Sir

This is with reference to the dance classes offered by your renowned
institute. I am a student of class X and very much interested in
dancing. I have come to know about your institution which provides
various courses on dance. It is well known that as a master you have
trained various film and TV artists.

I would like to know the details of all the dance courses offered by
your institution. I also want to know about the timings, the fees and
duration of dance classes and please let me know if you have a cab
facility for picking up the students living at a long distance from the
institution. I am attaching a self addressed envelope and a demand
draft numbered 1234xxxx of Rs 1000 with this letter.

Please send the prospectus of your institution; I will be very grateful
to you if you teach me

'Salsa' and other western dances. Hoping to receive a quick reply as
soon as possible.

Thank you

Yours sincerely

Neeti.



QUESTION 5:- You are Kirti/Kalpana. You are the Manager of
Modern Computers at Krishna Nagar, Jodhpur. Write a letter

to the Incharge of Goodluck Computers, Vidhyadhar Nagar,
Jaipur placing an order for a few laptops like, Dell,

HP, Lenovo, and ASUS for your shop.

ANSWER:-

Modern Computers

Krishna Nagar,

Jodhpur

13 June, 20XX

The Incharge

Goodluck Computers

Vidhyadhar Nagar,

Jaipur

Subject: Placing an order for laptops.

Dear Sir,

Please refer to your quotation dated 8 June, 20XX along with item
list. I am pleased to place an order for the following items as per
terms and rates mentioned in the quotations. Need less to say that all
the ordered items reach to us in a good condition. Any damage during
transportation will be your responsibility. Although, with an
association such as ours which is more than a decade, we have not
had any grounds to complain about any of the goods in terms of
quality or delivery, it becomes mandatory to write that the goods
should reach us in excellent condition.

Brand No. of Items RAM |HD
1. | Dell 50 8 GB 1 TB
2. |HP 50 1 GB 1 TB
3
|

3. | Lenovo 25 1 GB 500 GB
. | ASUS 25 8 GB 500 GB

The payment will be made on delivery as per the agreement.
Yours faithfully

Kirti

Manager, Modern Computers



QUESTION 6:- As head of the music department of your school,
write a letter to Sargam Music House, placing an order for some
music instruments like Sitar, Harmonium, Tabla, Tanpura and
Guitar. You are Jyoti/Jatin of Delhi Public School, Saket, New

Delhi.
Ans:

Delhi Public School

Saket,
New Delhi

7 January, 20XX

The proprietor

Sargam Music House

New Delhi

Subject: Placement of order for musical instruments.

Dear Sir,

This is to inform you that our school management has decided to
place an order with your company for the supply of music
instruments; the list is given below. The price quotation submitted by
your agents has been approved and the institutional discount of 10
per cent offered by you has been accepted. Kindly make it convenient

List of Items
' Sitar

No. of Pieces

10

3. Tabla

4. | Tanpura

1
6

instruments will be taken care of and the responsibility of any
damage caused during transportation, shall rest with you. I hope
future repairs and maintenance of the pieces will be provided by you
promptly and satisfactorily. The payment will be made through a
crossed cheque to your agent just after the delivery.

Yours faithfully

Jyoti

Head of Department (Music)



GRAMMAR PRACTICE:-
1. The following dialogue between Prateek and Raghav and
complete the passage that follows. 1*2
Prateek: I don’t feel well today.
Raghav: What can I help you, Sir?
Prateek: Can you take me to the doctor?
Raghav: Yes, Sir.
Prateek told the Raghav (a) __ Raghav asked respectfully what
he could help him. Prateek asked
the Raghav (b) _ . Prateek replied in the affirmative.
Ans :
(a) that he did not feel well that day
(b) if he could take him to the doctor.

2. Read the following dialogue between a mother and daughter
and complete the passage that follows. 1*2

Mother: Why are you looking so worried?

Daughter: My exams are approaching.

Mother: When will they start?

Daughter: Next month, Mother.

Mother asked her daughter (a) _  The daughter replied that

her exams were approaching. Mother further asked (b) ___ The

daughter told her mother that they would start in the following

month.

Ans :

(a) why she was looking very worried

(b) when they would start.

3. The following dialogue between Preeti and Neel and complete
the passage that follows. 1*2

Preeti: Where did you spend your holidays?

Neel: I went to many hills stations.

Preeti: Which one did you like the most?

Neel: Honestly speaking. I liked all as I am very fond of hills.

Preeti asked Neel (a) his holidays. Neel replied that he had
gone to many hill stations. Preeti then asked him (b) the



most. Neel said that honestly speaking he liked all as he was very
fond of hills.

Ans :

(a) where he had spent

(b) which one he had liked

4. Read the following dialogue between Sanjay and Madan and
complete the passage that follows. 1*2
Sanjay: I am surprised to see you here in Delhi. When did you
come?
Madan: I came here yesterday. I have been offered a job here.

Sanjay told Madan (a) and asked when he had come. Madam
replied that he had come there the previous day and added that
(b) .

Ans :

(a) that he was surprised to see him there in Delhi

(b) he had been offered a job there

1. The following paragraph has not been edited. There is one
error in each line. Identify the error and write its correction
against the correct blank number. Remember to underline the
correction.

(I) The first has been done for you. Incorrect
Correct

Neha: I wished to know about the tour. E.g.wished.
wish

Programme your company offers.

Also kindly let me knows the (a)

amount what I have to pay.Also. (b)
let me know if there was any discount. (c)

available

Ans:- Incorrect Correct
(a) knows know
(b) what that
(c) was is



(II) I met her by chance then I
when
went to getting some medicine.

which sister Anne use to give.

I start loving just her presence.

Ans(.II). Incorrect Correct
(a) getting get
(b) use. used
(c) start started

(III) Tendulkar is a best
the
cricketer in India. He play for.

more than 10 years for a country

He take retirement from the game.

last year.

Ans.(III). Incorrect. Correct
(a) play. played
(b) a the

(c) take took

E.g. then
@ .
(b)

© .
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ar H,

AT UTfeTshT  STTEERT,

ST T qTIeTehT

TIE T

O - Se9TE @ JHET gq 9HIET 2

GEERH

e & & & ag= Fiasr gt &1 Fart € O w5 &=
T TgT % Ty HET g8 T2 gl W& gEr A Y qEwl 9¥ 98
T 8 Fiaw amier & grema e |7 @aa g U gl "Agw UT
SE-Sg 9% Mg a9 U g SEH Jul &7 9«0 9 747 gl T8
OTHT ST "=ar ST <@l gl

fOger faat it 99T & FEOT SRg SHg 9¢ T T o7 § gre
e qTeTd a9 T g1 TH qAmEl § gael "oge e ey dar
gY Tl F %o #T ggrEr 3 W e

AT Ay fHeed g B T % gu Ul & e & fow wre
Sty w0l d% HaY ATeAl w1 GAar0 ST g9ghl 97 aq
TSl F ALAT A FAGEAT HL NEE HogL e AT el THh
T g9 Tk Hed SMATT &l
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< ST,

o N N AN
gegl UL, T

H O AT E FHTER 99 F AEAW ¥ d9d T H
fasTelt Fohe | 3T FHISATSAT il T ATHTRAT FT &1 Riud
FAT ATRAT gl | S & H @ arar ARTE gl sl &
g aTe(t fasTet ®he & Tg7 o Maredi & 9end FT T@r gl
a9 Tgol &t off At wverlt aE g2 ofh

TH Hhe HI AIEAT da9 ATe® M AN Hl FHERRT Al 3T
T & FAT 92 @7 gl AT gid gf 99 & S8 HeT gl Srar
gl TBd AT FrA-FE0 Fg Wl T4 H mHd g AT 2

ot Y mEeT ar R oft afdew iz g e 8 faset F st
H 9T HIET ¥ Y AT HiOT 9% A8l Ugd T L@ gl B aret
979 Tg ¢ T T H WA qT SARIAT T ATTHRILAT & A%
% o H faoet uw e & fow o 980 98 9 @1 3 o
SAEHAT AT TTAAT FT AIST FEH TRET?

H oI T FRT A GY ATTHIAT 0 T GrAAT FATadl gl 39
FH H ATH AN & T H TR d&T AT T
TeIATE

CEEEE
EICIIC LS

19 d9dL 2017



14 JIMEMETT H [FEdRAd H a9 ot |
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EEREIiCLY
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ECIGIEIRE FER

AT 22T Tl

AU - qEaswTe § Bar TEa ST afedre Iueey #T h Ha
£y

GEERY

oy feea & & ga Bamead & Eadad § SAtawier Teas
FT 99 I gl Texde Y el offe 949 Aua & w&fea
[edeh dgd ol ®H gl A1 & JfaanRit 9erst e gaarHias
fuat o gatga afFE gH Faaeed H Suded dgl gl Ao
fBal ® TEdinl eaehl #l FHHT gl TETRMAT TATT d5 TEdh Fd
MUY, Tg STTHERED dal < 97T @ &l

AT & FHT H FHAAH ThA0T A qHAEES GOt Fw:T A
T et & 9T F O ocgq saeds® gl e ¥, o’
AT T YTAAT &l TR w7 Famad I9R0 &l 9a49a8 &a®
T gt FrouA & oo f[Eer @

AMThT TH FAT & T TH A<T T STAT T

PEEIE

STTRT TSR 9T
EEREEES
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GEERH
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EEET T Sad g gl Eamed & 927 98387 g7 949!

ﬁvl‘r{ﬁﬁﬂquraqdl ATH T % TegE gl fhq =9 919 9@
& Ha T gHRre Ol qF Al g gl AUT RKQ H @A H G| H
ATl ATEAT ST AT ¢ Ol Fers gl arhl gl dreiaid
’ F WO GAd qh EATSAT F HqaAd o @I
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AALTF T ATHUT STH gienl, Thehe T TooT ST A3, Fedid,
& A o f=fEar &t 95 @i A1 oaft 9% TR/ g 2
e TR U9 @9 & 99" " g AV # )@ gl
arg Feae g & gade T9Tr qedTId "gled w0 AU AT
gl & fow [ T 3T @9 & #= iT Fleiaid & Fle &l

qqA FETT |
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17. 90T | e faeaes 70 9¥ Iaey ae & o e
et & forareter &1 T A 9 e

Tar |,

AT TR e,

ST, STl

e — 02/07/20**

CHERE
e =0 g g T § T wden &1 =i § & Sow &

7 T 99T U gF g el 8 | UH H O R Teig A
% dTgd ATHaL gl UL ed= [ead 3% a9 gu gl i &




THT q0T 9% FRET AT T % AN o Agae 9¢ a9id gl e
I7g a8 Tohel &7 SeHied gl oTal gl &TfH® AT ATHTE HihHnd
@|ﬂf@ﬂﬁ?ﬁaﬁwaﬂ?ﬁ7ﬁ%waﬁwﬁﬁmwﬁaﬁ
aoir f3aT SITar QIS & gag ¥ o T qF a9d sl Tad gl
ﬁlﬂﬁﬁﬁﬂﬁ%mﬁ%ﬁﬂﬁ&ﬁ?w@?ﬁélﬁﬁﬁQ
FJAd T F W T THeq FAEiYAr &t gt 9% Ael gr 97
gl T UH g JadT @I al gd Aa«t die gaerst # dga<
TR Agl wT T

O, S g0 SRR AR | Fgd & 6 W =9 e e
ToAT T g H FIH GHEAT Bl Lol &, AT dg Al a1d &l
FTAT FY Id § | THET {H IR 95 {or@dhe gaT o0 THE

H Sd FOAT 92 @1 g | FFifh AT a1q &ls T &l dal L&l
g | AT FIAMT F Hopedl & AT gH o 9 @ 39 I #

N D

FATAT AT | AT Irgld Had ACATEA <h< gHIRT aT1d 2T &l

e T ¥ By FeeT @ & oo guw o F when
gt EEqeR I3 9 Yded aEr) S| ¥ gart 98 a9
Soq ¥ Sog 3L gl dehl3iT gH A9YAT Ugre H AT = &
ST AT bl

Arehl =@ FUT & forw gw el oo & 9fq o9 = #d §
|

qrey g«J4are |
greft

A AT gHEq & Tl

18. I AIAT Hadr Tw(AT A % forw o= forfem)
A-1 F T,
rgrd, Tt



HqaT H,

gqTe® Hglad,

JUT IATAT A,

TAT

fawr- sroet wfaar ®r gHOT FA gql

GEERY

Ty FeeT =0 T g TF 837 71 ooy g 8 9 § &gass
fsafaama & . w. vyw a9 &1 | g 98 wfaqr a@q H
fFaw w5 FEmes |e 9T #9 d9e wiadr oEd Sradrare
H wmr feram qur yeuw ' 9T fHRAT 2

7 Ffaaren &1 Buw 3or it @i wiaEgat ¥ w@6fga =ar gl
Td HTg B FAdT FT THIOT <0 TR0 GH=E & o Thriera
T ATl =@ a9 & AqAT Hfddr M THMEA T H TR
FAT ATEAT gl W &faar &1 Fug- goharast |41 W g 78
Hadr # oF F AT ATH YT F T E

qrE AUy g o A @ I w FeEnd § 98T 39 g
T HY fO=Rl &1 390 F a7 AR T TgA g WA TH HfAAr
HATT FGATT H THRMAT Feeh A FaATd A2
AMTehT ST FAT gl
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19, sfierred foreaar o {9y 200 9re=i H

AAATET TUAT TERATRI FTEAT TAT TeLAe il TgFar ¥ 9% 96
feT I FXA AT JERATRT ZISST F GHT T AAATSA frer
(Online Education) forem #1 F=Tsal &1 g @I 2

FIIT el FEATA H AhT TS FEATAT 1 FATHST AT ATTATIA
ATATSIA . ST Tgl gl SAATSH [T qoheilehl ATeET o ATEAH o
v ofgw Riem sie F=wfa g R

TATEHIT HIATA, FEL & GIT AMSAT FHIHET
(VedioConfrensing) & SIXU AT foram & Sl 81 ~NEH
forer o9 WX X dowe A=At &t qEmar gl 99T S S+

eoide h d1¢ H FHATAT gl

AT FAE H {UerE qem A7 I=Ee wLar @, ST g
Frdr (Hardcopy) T ATHEHIT (Softcopy) F ®7T H It 99
FL THA 2

AAATET FATHH HILUATEATAE HgMT (coronavirus
pandemic) % THT AT & & H UH AgH AT WAT Wl &,
R T 9g 9 AgMNT & HRAT § H{<h gl 9% doF7 of
forerT uTH W W@ 2

O S T SH Al eI dAgl gEdl S qrar-foar & "o
4 Tgw forer ® wetaq waearsA A oawrae ot F 9T gl

fohq sttaeTea forem & Toa9ma W1 ARG g, A H{iEnEd,
FEL h HIh H g4 UL qgI A @l 9T g7 I I=dT B

EATSd TAT A9eiT § Tedde I § SFeHud, wadsh e I
AT S wiewd 9% AT ARAT saare Fd 99T 9T F9ia




FXd BITF qF af TH F AT AqEl gl Sd g, [ SART A9 UEE
H g gl avan diaarea foeT T THTET S99 6 o0 "rar-todr
AT TFI I FAT AT TAT T qAAT AT AT AT

ST qUT gl gl gl

20. 93T H Afgarst it e

Ig aTq A 91 Yauq a9 & o 9aaT 99 § A"igar & @l
ALHT % HIEIT &0 ST gl 9T Aigarst & T Thcds 989
F AT AR Agl AT ST G&dTl 9Rd H Toid U6 UFH I
H AT &7 gL TFT oua gl @l ¢ (e ATg ar #f 2r, «et
21, T ar, WAl BT AT 5-7 AT AT B AT & FT A BN B
SRTE AT ASihal ¥ IS &l o1 Lol gl S qeers &

ST @7 gl U8 FAd wfeqdl FHT AT @l 81 TS, ATASHH

T, ¥, 99 Affa FEATHISG ddl & Ag a9 TT Iz

A TAT HidAST ST Aol FrAA 9 % G H St T gl S o
F T H 98T Maadl g af ™ ¥ o< 9T & Tohd ard F9e
Tgdd F AoEX gl TEY AT oefig 9Tq dr I8 7 f Fe SWgl 9%
UHT AT TE@T AT g HI-ATT UH F ATAT H ATAT Bl Al
J9ATIIT & Ak H &ohed ad gl Ug FAAAl Al L qolld b
T oI Hae At ToGr A T A & g FRET #wT T
AAZLUT FIAT 3MH qTT gI T gl Al & ATAT AT H gL 20
e # U% 3Ra ¥ TATRE grar gl

IO &AT § qU Sl |7 L g gl TATEHRE & Ul He a8
STH TgAd Tgl T F¥ & gl his Heed Moadl gl T8d & oU
SATAT ST, ATE-99< g0 diel 7 =l Jeq1e af US i
1q Bl T gl M9T ATe® TATwE F a0 90 &l AFRAR
% @ A7 IH &\ I GHhar gl AigaArsl sl AT <97 T FA




SEEEIT i et g1 THET Hadd oF a7 o fawrd § AT swelt
ANME g1 394 JqTas@ 2181 daf § RBgeam # UHr sedArsi &7
T AT H&hid &l had HATE &I Hal gl

(21) TATEA AT

TGS AT o8 AT o arqdTT H g aTell glg w1 F9ar gl
T8 Teh UHI OHET g NE 9T WX &l dgl RAT T af I8 1
AT & gl 98 FT M HURHI-11 AT TTRAT-12 St A+
R Gl F IS & JH@ (AT & Aeiua wh Al h
Jraraeer & 9 a7 fEm ¥ W g & FReen @ argEed |
TAL AT FIA QAT B, WAhd IAH BT AT G0 R ATAHSA |
qrET AL S A F T A1 fETeH aWE FRr S €, S W
foeg & qmoae ® Ffx % forw v 8 aome & gfg & aut
Th, TIEfas §qad, HEH F T6 M« TA1Ed 3id gl I8
Faeata ST FW & ff g9TEa Far gl e s |/ gEar
A H AR 92 X g@ SdT aRfeafaai &1 qmEar #3491 9280
gl AT ¥ Flg ST WA & e F Rer awarir Sl
qeAT H Wl FHT oAt B qmAW H g ¥ emear # o+t IfE g2
g 6 O H ghg & adisr #if X § Fhg g2 gl =&
TERIE & ATQU il dg ARN o S JINTERdT & HiL qar U
STFRLU AT ATgAr i fasht & TreaTed L ST GATEGXT & A5
2N YUT, ToATRes IR o= WTHOET T TETEfEe @y
FAT FATRUI UH FATHI &I AN G STHMEAT TqL IL HLAT A
TR g, TAT 9 Td TATET qieh | T 9I\S GHEAT Al
THEAT FT T gl

(22) gug T F o 7 w=war




g/ Aae dqar @ar g, &l FREr 6 o agl sgean S
Fh THT % HIA H TgAal g, g JAIT Saq § aFadar g
FAT gl T0T Fiq T« 9% hU U F FT R FA AT Al
AT 3T 91T & ATdih F=g 21 qal aAan s =i qag
THT 9T 3oaT g, AI9 T & J9T 9T FLAl g a7 J99 IX
qAT 8, del AN TR G T Ioqq ATk a9 q1dT7 gl ST A<h
AT H AR GHA AT AT g, SHAT AT FeTREHAT Bl ST
gl Hasid FELEE St 9 Wl 999 g F FgT § -

"FTA FE AT AN FHL, S HL Gl A

O H 9T BT, A wEm A

9T T UH-Ud 9 dgd Goddd g ofT &iar gor a1 a9+
ACHT A5l ATl TEGT THT FT Hged Tgadas s @=mdl &
T €7 ¥ 999 wAT ATQU 3T AT & hi T FLAT
FIRUI ST 9T 1 T 39 I Jaq g9 H 9" & 3%

Afgd THT TLATE 7 Feh AN A9 w1 I A= -7 o

FrgATT 2l

(23) SRSNMET : GHET 3T THTET
Toha fog - FEOT IR [ HHET FT THETT

IS T aTedd TRT ATRIT hl FHT & g1 ARG § SoH
F T T H 9 40T § Fier T gl TH ARe S a9t
ST AT &7 &l 9799 gl gl ¥ T d¥g o @rdl gl T,

ST Fg 999 | FH &L @ 8, oihd Hiod AT HH F G097 G
gl % 978 IR Bl Sd gl UH AN I ALSHIE Fgl S1av gl

e 987 UH g Rive TIAT o AT 9T AR Agl (WAl

SR T Y& F0 Sager faene 81 swaer gia F Fr
U H TSR GAOT il qET A0 GF AL gl AU FHI
TE- o qaEr ¥ gie w19 q FA h ATAET gl AUSIRT A




T TE FOT I {7 Faedr g1 gamt forer Jourrelt A
T ILSHTE ARTE #7987 F¢ Er 2

AT AT & e giveur T AWTE gl HLhIT Al A AN
T IIHTgT <7 ATUl TR & =W ®r T 88 a9 F@rEm
STET AT F T899 TS & JaGa< ®F 9 gl aree et s
T wetw w1 e T, #8990 F [OeTEl & grd a@e
w7 fam

SN o IR0 9aT® 81 SXee a7 §@ Hf Tad &
FOTAL Bl F OTd FT FXA § TqEH BT gl ST ANT q=9d @ o6
rfers ATarawer gfHa g, F Aferd araraser & W Jle ggArd §l

S THEEAT i THAT T R TET SRSHIr Rl GHEAT AT

THTITT 1 Tl gl TAT ATIE 98/ Ll TR K & IAMNI
& FEMET AT ATeul s wfereror, forem & emfaer g atlten
AT ATCHAHET a9 970

(24) 9L Sfad & Fgar Jguo

Toha fag — 9o, S=aedT, [Ffag TR & U, Igue &
TFA & IAA

AT ATHIOT TATRE § ART die-eiY o= &t T 9" F< g &l
S/ 9T | AT § 98 98X W 99 A7 B | IH A9g " we
TE e g AUl H gL a9 MU gl

SAEEIT T 984 F I § dIg-dYg & UgUU 98 T 2l
Jgl STHIM, TG AEHE, Tl Aal, dal Tglg, oA i AT
AETEr AHT AT AT ITATHN THHT HGT FEL d28d Ig00 9T 92

= 2




Mg H UUU T dg H F2 @I gl gaH Huo 9 U gl
a2 UgU W AR TS AT W HIE Agl of T&d| ARN Al 9EF U<
TAT THT FTgAl HT FTAT g3 AT 9 @7 gl Hig dfg® g+ +
FII S-S F2 & & o ol hacl &1 g3 TATALT Al
SgUdT aATdT g, AU g6 |l T&F=g gal & e qeEar gl
ag A H S« IgUW UF FEN HEAT 99 =T g HRT AT OOl
TOd B " SO WI AT T HIAT gl AT &= T i
Faua™ Rafa 78 & & "dgm & Farear & o agee &
AT A FHEAT g T g, f¥ o Tl Y Sg % A o o
2l

T Hag H AATAER ATGAT 0 qeg AW ANT AT 9= &7 | IS
gl EH YU F FRON T TEE g9d ok qLH A HHAAT ZRIT
ART &l F9d FL AL AT Kl ATTH €T H TATLT Hl TR
ST AT T G TEINT @l IO h ATATE<0r w7 [T 2r
THRaT gl

(25) BIF 3T ATATEA

Hoha &g -Ag<a, T8aT AqHMET FT TATE, A 3T HATS 9% TN
SIECEREEE ]

“HAAIATE eT KT A g -TAIAT W ALEAT K ATAT AT Al
e FALAT 9T g, ar 39 9T S =ggedr &% T g1 oar stad
H§ wre A A9 s form =T o semEd Stad & SS9
JATAT gl THE TAAT § A AT gl 9T HT T TZIINT gram
2l

Tl AT AqATHT &7 9715 qad T8l qare d g "i@r
STAT gl IETE & 9T f FARId aiih o gRm af agr of



AT UT AT ST THAT AN 6l Tgd I =T &l
AT HEAT AR

AAATET T Had AT Stiad & o0 smaedq® g, diesdh I
Sttad & forw ot [Aara srasas® gl AR Sttad | SqemaT &7
o g T O A TAF M R GHT UL ST R H QT HEA I
Aaq e wAl ATRUl ARl AT HIH F °¢ Mg wid

gl fem==ar Mfsa g =rewl

AT SHad | SIAeTad Saed® gl 99 o, a9, T&d AT
FIATAT ZHAT God @A &, 99 ol HHAATAT A AAT-FIT T
U HHT 9T FHH FA h (0 JIL T@AT AU &g fedrs Al
gt =mfRm TEe ATy & emeft uw uww e et d@ o9
o % qaT gl

AT T Hgedqul Siad qod g, awad H JemEd Ud TH
FT AT gl Th & gl AqTHT FT A& Sad &l AHI AR
AT EgmeEs aqmT gl UFh AqTHT ATk &l GIorerq i av
AT STAT gl Ua Aqenea Gl o9 Sitad § 9%adr ar Imd
FLAT & B ATT & 91 9979 ® A1 ol o7 9T Fear gl

(26) |F % B BT &, AA % S{id siiq 9¥ Hae |

Toha Hq: A9 g TGl ®T 66, 38 AT THAAT F AT,
TFIITRE T FHTLOT

AT ST A AT | A &l G9eq €A TA G&H S(adl H7 THl
ST e -fAgers T @7 81 AT o Agi, Aar ar 6| &l
g OqSAr T qEET TaiareEl oY feae w gAdd R /i
gl Eqd H #9 gl 9g d<ad g H " Ssfed & g9,
Ao UF egEed, Tl TR ok A= 99 o d gl 39 R U4
TIUHAT (a9 59 § JEa (@9 il ge-Sid @l segrnaal o




ITAT FETT T H " &I gl 32 A9 qrgAr ¥ Ok gd gu AT
g & Sita # a2 faar #:a €

=% AUd @ A9 99 TE & gAW 9|t ¥ 9«9 ghd gu
ff SiTa &l g H 5o« & forw @aer g JAr &<d gl THi &
AT A9 &7 GIHT @ hf a1q =aq w1 H g wed o @
g, Fh 99T 99 g Faedl & A< g6 T8 Fd & 38
gohed of Tl gl S Hhed gE T, ar Hea gF Areaiqaar i
fafaat # ot FE-T-F12 Trgw @ g o smom e g
G Had QAT aTAl FT AT ATeT-<ri<h I AR FT &F
Tel AT FAT, dlodw Hbod ATAT HT T g3 FLAT B

o 3f2 § gd9a ud g9 29 g ot 32 e =k ve-va
FTH FL AT FLd g [oh IAel AATYROAT 9 AeqT-Eq gae
g ST 92T 8l ATHI: gTEer Idid giq aTel o4<h |i 3a+T
qheq o<k & T | AATAE THET a6 K Hg AIE o H % @l
ST FA Bl

Hlcd {<dn

1.@® H q9Td HIgd & (v FrE-W1Ea & Aggd gor & 9 394
AMAAT Fd & o0 qf=s ot ISEF T8l 82

ST-HIE T 9% ITAT 44 & 39T T g J@® IHhe FATH F
s & @7 AT <@T IO UF 9979 qed 98 F 96 | od@® &l
SEHRAATE HIgd & (wad § Fag™ 9=T, SEd 394 =gl W
FAGTT & WTd SHL AUITATT T8 i (@l | STHAqIT HT AT
SHY AMATISvgid o@® o FTAAIT HLd 0l Igd Al i@ ahl
AT =@ % 0 F [l § 987 d@d wiFg o 9| o T
it Rafa &1 @9 TNTT TE-9Ta1 F @HT d@dh F S (AT
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24T A8 7 dgd sl Id § WRT FIel, THG-THE &1, Sida:
dgae r faeht ¥ aee o feam I vEr w9 T grme
ST UAT FTAT I h" TTATT Hl TR FHLal g2

IAL-ATE HTgd d Tdga® G FHlehl qq6h-0= [GSH 30T
Hgwe fagdr ¥ arge % AT IFHT UHT FEAT S Fardl 39
fR@mar g1 & AN & F1F GG H ZEhe FAT HA Hleh JIAT
AT Q@ AT FHAT FLA gl IART AT FHLAT I THIT
T Y Aardiod e f vwla a7 w=mae w T #w@ar 2

3.997 PR, wedAr X Ut & AT FT Fwel for@l ST "@edl gl
T & TH @A § T Fgl T TgA0d 82

STL-@h & AWAT g o A1 @=, =edr T 9= & o7 #47
Fgl @l ST gl g Fqiq fa=1, =FedAT i 9 & foATr
Tl dgl @@l ST Tl gl § o@® & =q =l  quiaar
qgHd gl daread H wgel [T HgedT [aT &7 Juia & ar @l
SHHT HIEOT FAT AT, Fd Fl, TROMH FAT @I a9 Iq FqeAT o
FIT-FIT TATET T AR FT A0 I FgET gl dq: FRdt Fgret
% U @=R, H@edT ST 9T dgd gl rasd® gl

4.3 AGAAT TS Haer & ST FT AT9 AT ATGH?

SI-H T Aag &1 @ 99 SA T AR/ T S T 97 U
T M= AT AamET TErEn TEEr wer 98 o q49re "@rgd d
TATET d Fd R [T T off 9% I9H AT qETdl ATl SEE SIY
e #r vy o

5.9@94Y et ofivsw Y grdwar fg @i

ST~ \AqEqar sEnr ofidw & g9 § =g [fgd 8 =9 wgmr #
FoTq T T@HS & AEITH & Tdid gidl gl THE AATar T97d




ATea o o9, fe@mar, wHr &1 9299, JamEt 580%, A9
arfe aft o@ae F 39 AamEr S g, S JarE w9 fi Be
T § T ITh FHA A H AT |l THHI AAF [HAdl gl a5
F T T A99 H HHe gU AT iU ‘F@ddr SEn’ quiadA
CIRETRCECEE ]

6. dare’ U H AT d=9r ¥9¥ i)

3L~ " AGAAT FEAST/ ATHER IS5 o HIEAH § o@® Tg a9l A7

Fgar & & gH ouar AEgiE s faega wvd gu fewreud
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Important Questions PHYSICS ( class X )

LA simple motor 1s made 1n a school laboratory. A coil of wire 1s mounted on an

axle between the poles of a horseshoe magnet, as 1llustrated.

=il

In the example above, coil ABCD is horizontal and the battery 1s connected as
shown.

a. For this position, state the direction of the force on the arm AB.

b. Why does the current in the arm BC not contribute to the turning force on
the co1l?

A circuit contains a battery, a variable resistor and a solenoid. The figure
below shows the magnetic field pattern produced by the current in the

ol

__solencid

— Mmagneatic field line

a. State how the magnetic field pattern indicates regions where the magnetic
field 1s stronger.

b. What happens to the magnetic field when the current in the circuit is
reversed?



a. It would cost a man Rs. 3.50 to buy 1.0 kW h of electrical energy from the

Main Electricity Board. His generator has a maximum power of 2.0 kW.

The generator produces energy at this maximum power for 3 hours.

Calculate how much 1t would cost to buy the same amount of energy from

the Main Electricity Board.(1 Mark)

b. A student boils water in an electrnic kettle for 20 minutes. Using the same

mains supply he wants to reduce the boiling time of water. To do so should

he increase or decrease the length of the heating element? Jusufy your

answer.(2 Marks)

31;"4'__ L S

[n the above circuit, if the current reading 1n the ammeter A 1s 2A, what would

be the value of R,?

OR

R, =70
—AM

R, = 6 ()

AN

o+
V=24V = F?2=1D£l§

§F?d=4£l

Calculate the total resistance of the circuit and find the total current in the

s1rcuit.



KENDREIYA VIDYALAYA JAMALPUR

IMPORTANT QUESTIONS WITH ANSWER
TERM —1I

CLASS — X

CHEMISTRY

Q1. Read the following carefully and answer the questions.

In covalent compounds atoms share valence electrons to satisfy the
octet. Each atom shares one pair or two pairs or three pairs of
electrons depending on their combining capacity. In electron dot
structures only numbers of valence electrons are shown around the
symbols of constituent atoms. Carbon using its valency of four can
make either single, double or triple bonds with other carbon atoms or
any other atoms. Carbons self-linking property is called catenation. In
hydrocarbons carbon makes aliphatic or cyclic molecules they are
either saturated or unsaturated. Based on these facts Read the
following paragraph and answer the questions given below.

An element X combines with Y to form a colourless odourless gas, Z
which turns lime water milky is the major constituent of all organic
molecules. Five X atoms combines with hydrogens to form a cyclic
saturated hydrocarbon ] and aliphatic unsaturated hydrocarbon Q. Q
is used in gas welding.

(1) Identify compound Z and draw its electron dot structure.

(2) Write the chemical formula and IUPAC name of compound Q

(3) What is the common name of Q

(4) How many single covalent bonds are present in compound J?

Answer:
1) Z is COs, its electron dot structure is



ool

2) C5H,, ethyne
3) Acetylene

4) 15
Question.2.

(a) Why are covalent compounds generally poor conductors of electricity?
(b)Name the following compound:

o
e
H OMH

(c) Name the gas evolved when ethanoic acid is added to sodium carbonate.
How would you prove the presence of this gas?
Answer.
(@) It is because they do not form ions.
(b) Propanone
(c) Carbon dioxide gas. It turns lime water milky.
2CH;COOH(l) + Na,CO5(aq) ——> 2CH;COONa(aq) + H,0(l) + CO,(g)
Ca(OH),(ag) + CO,(g) — CaCO4(s) + H,0()
Calcium Carbon Calcium
hydroxide dioxide carbonate

3. What is meant by a saturated hydrocarbon?
Answer. Those hydrocarbon in which valency of carbon is satisfied by single
bonds only are called saturated hydrocarbons.

Question.4 Name the compound formed when ethanol is warmed with ethanoic
acid in the

presence of a few drops of cone.H,S,,

Answer.



Ethyl ethanoate is formed.

CH,COOH + C,HOH —="“"%%¢. CH,COOC,H, + H,0
Ethanoic acid Ethanol Ethyl ethanoate  Water

Question.5 Draw the structure of CH;COOH molecule.

Answer.
0
H—tl:—C—oH
H

Ethanoic acid

Question.6 Draw the structure of ethanol molecule.
Answer.

|

H H
Ethanol

Question.7 What happens when a small piece of sodium is dropped into
ethanol?
Answer. Hydrogen gas will be evolved.

2C,H.OH() + 2Na(s) —> 2C,HsONa() + H,(g)

Question.8. Give reasons for the following observations:

(a) The element carbon forms a very large number of compounds.

(b) Air holes of a gas burner have to be adjusted when the heated vessels get
blackened by the flame.

(c) Use of synthetic detergents causes pollution of water.

Answer.

(a) Carbon forms large number of compounds since carbon is small in size and
can form stable covalent bonds (catenation) and it shows tetravalency.

(b) Air holes of gas burner are made open (adjusted) so that air can pass
through, which is needed for complete combustion, so that heated vessels do
not get blackened.



(c) Some synthetic detergents are non-biodegradable, therefore, cause pollution
of water.

Question.9 Write the name and molecular formula of an organic compound
having its name suffixed with ‘-ol and having two carbon atoms in the molecule.
With the help of a

balanced chemical equation indicate what happens when it is heated with
excess of r cone.H,S,,,

Answer.

It is ethanol, its molecular formula is C,H.O.
Ethanol forms ethene, when heated with conc. H,SO,.

Conc. H;50,
CH4CH,OH ~ CH,=CH, + H,0

heat

Ethanol Ethene

Question.10 What is ethanol? State its two properties. What happens when it is
heated with excess of cone. H,SO, at 443 K? What role does cone. H,SO, play
In this reaction? Write chemical equation of the reaction involved and the
structural formula of the main product formed.

Answer.

Ethanol is C,H;OH.
() It has specific smell. '
(i) It is soluble in water.
When ethanol is heated with excess of conc. H,SO,, ethene is formed along with water.
CH;CH,0H —=c%% . CH,=CH, + H,0
Ethanol Ethene Water
Conc. H,SO, acts as dehydrating agent.

H H

I
Structural formula of ethene is H—C=C—H.

Question.11The elements of the second period of the Periodic Table are given

below:

LiBeBCNOF

(a) Give reason to explain why atomic radii decrease from Li to F.

(b) Identify the most

(i) metallic and

(innon-metallic element.

Answer.

(a) It is because nuclear charge increases due to increase in atomic number,
therefore, force of attraction between nucleus and valence electrons increases,
I.e. effective nuclear charge increases, hence atomic radii decrease from Li to F.



(b) (i) Most metallic element is ‘Li’ as it

can lose electrons easily due to larger atomic size.

(i) Most non-metallic element is ‘F’ because it can gain electrons easily due to
smallest atomic size.

Question.12 The elements of the third period of the Periodic Table are given
below:

Group I I om | IV A vl | VII
Pericd 3 | Na | Mg | Al | Si Cl

-
W

(a) Which atom is bigger, Na or Mg? Why?
(6) Identify the most (i) metallic and (ii) non-metallic element in Period 3.

Answer. (a) Sodium is bigger than magnesium as it has lesser nuclear charge
so there is less force of attraction between nucleus and valence electrons and
less effective nuclear charge. It is, therefore, bigger in size.

(b) (i) Sodium is the most metallic as it can lose electrons easily due to its larger
atomic size,

(if) Chlorine is the most non-metallic element because it can gain electrons
easily due to its smallest atomic size.

Question.13 The position of three elements A, B and C in the Periodic Table is
shown below:

Group 186 Group 17
= A
B C

Giving reasons, explain the following:

(a) Element A is a non-metal.

(b) Element B has a larger atomic size than element C.
(c) Element C has a valency of 1

Answer. (a) ‘A’ is non-metal because it can gain electron easily as it has 7
valence electrons and forms negative ion with stable electronic configuration.



(b) It is because ‘B’ has lesser atomic number, less nuclear charge, less force of
attraction between valence electrons and nucleus therefore, has larger atomic
size.

(c) ‘C’ has 7 valence electrons. It can gain one electron to become stable. So,
its valency is equal to one.

Question.14 The position of three elements A, B and C in the Periodic Table is
shown below:

Giving reasons, explain the following:

(a) Element A is non-metal.

(b) Atom of element C has a larger size ‘ than atom of element A.

(c) Element B has a valency of 1.

Answer. (a) It is because it has 7 valence electrons.

It can gain one electron to form negative ion. So, it is a non-metal.

(b)'C’ has more number of shells than A. So, it is larger in size.

(c)’B’ has one valence electron. It can lose one electron to become stable. So,
its valency is equal to 1.

Question.15(a) Why do we classify elements?

(b) What were the two criteria used by Mendeleev in creating his Periodic
Table?

(c) Why did Mendeleev leave some gaps in his Periodic Table?

(d) In Mendeleev’s Periodic Table, why was there no mention of Noble gases
like Helium, Neon and Argon?

(e) Would you place the two isotopes * of chlorine, CI-35 and CI-37 in
different slots because of their different atomic masses or in the same slot
because their chemical properties are the same? Justify your answer.
Answer.

(a) It is done so as to study the properties of elements conveniently.

(b) Increasing order of atomic mass and similarities in chemical properties
(especially nature and formulae of oxide and hydride formed).

(c) These gaps were left for undiscovered elements.

(d) Noble gases were not invented at that time

Question.16 Chlorine, bromine and iodine form a Dobereiner’s triad. The atomic
masses of chlorine and iodine are 35.5 and 126.9 respectively. Predict the
atomic mass of bromine.

Answer.

Atomic mass of Br= M

= % =812



Question.17 In the following table, are given eight elements A, B, C,D, E, F, G
and H (here letters are not the usual symbols of the elements) of the Modern
Periodic Table with the atomic numbers of the elements in parenthesis.

1. What is the electronic configuration of F?

2. What is the number of valence electrons in the atom of F?

3. What is the number of shells in the atom of F?

4. Write the size of the atoms of E, F, G and H in decreasing order,

5. State whether F is a metal or a non-metal.

6. Out of the three elements B, E and F, which one has the biggest atomic
size?

Answer.

1. F has electronic configuration 2, 8, 2.

2. F has 2 valence electrons.

3. There are three shells in ‘F’.

4. H> G > F > E is decreasing order of size of atbms.
5. ‘F’is a metal.

6. ‘B’ is having biggest atomic size among B, E and F

Question.18 The atomic numbers of three elements, X, Y and Z are 9,11 and 17
respectively. Which two of these elements will show similar chemical
properties? Why?

Answer. Electronic configuration of X, Y and Z will be:

X(9):2,7

Y(11):2,8,1

Z(17):2,8,7

X and Z will show similar chemical properties due to same number of valence
electrons.

Question.19 On the basis of electronic configuration, how will you identify the
first and the last element of a period?

Answer. First element has 1 valence electron and last element has 8 valence
electrons. Number of shells remain the same in the same period.

Question.20 How does the valency of elements vary

(a) in going down a group, and

(b) in going from left to right in a period of the periodic table?

Answer. (a) Valency remains the same in a group.

(b) Valency first goes on increasing from left to right in a period till middle of
period, then decreases.



SCIENCE (Bio)- IMPORTANT QUESTIONS —

Q.1 Write the difference between Asexual and Sexual

reproduction.

CLASS-X ,TERM-2

Asexual reproduction

: 'Sexual reproduction

1) Involves single organism.

1) Involves one or two organisms.

is only through random mutation.

2) No production of gametes. 2) Male and female gametes are produced.
3) There is no fusion of gametes. 3) It involves fusion of male and
" female gametes.

4) It requires only mitotic divisions. 4) It requires meiotic division followed
by mitotic division.

5) It produces offsprings that are 5) Offspring will have some characters from

identical to the parent. male parent and others from female

parent. Some characters may not be
present in either of the parents.

6) In this chance of genetic variation 6) In this reproduction there is more chance

for genetic variation.

7) Asexual reproduction is not very
useful for natural selection in
evolution of species.

7) Sexual reproduction is highly useful for
natural selection in evolution of species.

8) It occurs by bﬁddlng,
fragmentation, sporulation.

8) It occurs due to pollination and fertilization.

Q.2 Write the difference between binary fission and multiple

fission.

Binary Fission

Multiple Fission

1. It refers to the division of parent
cell into two small, nearly equal
sized identical daughter
individuals.

2. The parent cell does not break
away.

Example Amoeba.

P

Draughter
e cells
L Nucteus

Binary Fission in Amoeha

1. It refers to the division of parent cell into
several small, nearly equal sized daughter
individuals.

2. Parent cell breaks away, releasing many
individuals at once.
Example : Plasmodium.

Cytoplasm Daughter
ytopl Nucleus cells released
—
@9 —
Cell

Many daughter
cells produced
by multiple fission

Multiple Fission in Plasmodium




Q.3 Explain Human male and female reproductive system with

a) Male reproductive system :-

The male reproductive system consists of a pair of testes which
produces the male reproductive cells called sperms and the hormone
testosteron. It is contained in sac like structures called scrotum. From
each testis arises a tube called vas deferens. It joins into the urethra.
The urethra is enclosed in a muscular organ called penis. It has an
opening called genital pore. The seminal vesicles and prostate glands
produce fluids which provide nutrition and help in the movement of the
sperms.

[ jacrosome

well labelled diagram.

b) Female reproductive system :-

The female reproductive system consists of a pair of ovaries which
produces the female reproductive cells called ova or eggs and the
hormone oestrogen. Above the ovaries are tubes called oviducts or
fallopian tubes. The two oviducts unite into a bag like structure called
uterus. The uterus has opening called vagina.

Human Female Reproductive System

Fallopian tube

Sagittal
View

Fallopuan tube
Ovary

Human ovum (egg)

Q.4 What are birth control methods / what are the methods to
avoid pregnancy?

b) Prevention of pregnancy ( Contraception ) :-
Pregnancy can be prevented by three main methods.

They are barrier methods chemical methods and surgical
methods.

i) Barrier methods consists of using condoms, diaphragm,
cervical caps, Copper T e#$lJCD
ii) Chemical methods consists of taking drugs like oral
pills, vaginal pills etc.
iii) Surgical methods consists of removing or tying a small
part of the vas deferens in males (Vasectomy).
or fallopian tube in female (Tubectomy).

Q5. What is Double fertilization? Explain it with labeled diagrams.



Double Fertilization

Double Fertilization -

Endosperm

» Double fertilization occurs: One sperm nucleus (1n) fertilizes
the egg, producing a zygote (2n) > which becomes the plant

embryo inside the seed.
Antipodal

» Another sperm nucleus fuses with the polar nuclei, resulting in cell

a triploid endosperm (3n).

_Polar
nuclei

» Endosperm is a source of food for the young embryo.

@ Polar
wiclei
- Zygote
— .
Zygote Pollen tube Micropyle (2n)
. Release Double
Synergids of sperm cells fertlization

Q.6 How is sex of the child determined in human being? Show with
diagram.

In organisms, a specific pair of chromosomes determines the sex of the
individual called sex chromosome. In human beings, sex is determined
by the XX-XY chromosomes. Females contain XX chromosomes and
males contain XY chromosomes.

So, if the male gamete X chromosome fuses with the female X
chromosome then the child will be female or when male gamete Y fuses
with the female X chromosome then it will be the male child.

Zygote

Offsprings m

\ A
Female ™M

Q7. How to Mendel's experiment show that trait is inherited
independently?



3. Law of Independent Assortment:
The alleles of two different genes get sorted into gametes
independently of one another.

Pure Parents

When a dihybrid forms gamete,

assortment of alleles of

different traits is independent of their original combination

in the parents.

e

RRYY
¥, Generation
RrYy
() D > [
@ | Jovs || v | v | s
< | e el el
F; Generation P = > =
hAAN BELISLAN BLLTZAN BEITZ. Phenotypic Ratio: 9:3:3:1
T r— — - Rao:
RRYY myy = Out of four types, two were parental
@ combination (i.e. RRYY & rryy) and two
were new (i.e. ritYY & Rryy).
* New combination in F2 generation
RrYy proves the Law of Independent
@ Assortment.
(] D L) (]
P —~, — = = * The law of independent assortment is
aavy acvy save move applicable only for those traits which
D| = - = - are on different chromosomes.
oS | - || -

Q8. What is Monohybrid and Dihybrid cross?

Q9. How do Mendel experiments show that trait may be recessive or

Monohybrid

Dihybrid

= The cross between the
two parents differing in
one single pair of
contrasting characters is
known as a monohybrid
Cross.

= For example, the cross
between two pea plants,
one tall and another
dwarf with height being
the only contrasting
character.

= The cross between
two parents differing in
two pairs of contrasting
characters is known as
a dihybrid cross.

= For example, the
cross between two pea
plants, one with round
and yellow seeds and
the other with green
and wrinkled seeds.
Here seed colour and
seed shape are the two
contrasting characters.

dominant?



It can be explained by Mendel's 1st Law- LAW OF DOMINANCE:-

1. Law of Dominance:
In a cross between two organisms pure for any pair of
contrasting character, the character which appear in first
generation is called dominant and the one which is
suppressed is called recessive.

A cross between a homozygous dominant and a homozygous
recessive will always express the dominant phenotype.

What is the Monohybrid cross?

A cross between two pure parents differing in a single pair of
contrasting character is called monohybrid cross.

( \ \
Pure Parents 2 \ li | ,/‘ x )

¥, Generation - Only dominant character
expressed in F1 generation.

¥, Generation

Phenotypic ratio 2 3:1

Q10. What are acquired and inherited traits?
ACQUIRED CHARACTER-

They are variable somatic. Acquired characteristics developed due to
the effects of environmental factors, organ use and disguise, and special
(conscious) efforts. These characteristics develop throughout an
individual's lifetime, and that individual's with death.

Example: dance, music, etc., and a muscular body wrestler.
INHERITED CHARACTER-

These are the hereditary variations. Inherited traits develop due to the
reshuffling of genetic material and mutations. These features are
transferred (inherited) by the parents to their offspring. They don't die,
but they're passed on to the next generation.

Example: free or attached earlobe and curly hair.



Q11. What is difference between Biodegradable and non-
biodegradable wastes?

1. BIODEGRADABLE WASTES-wastes that can be broken down by
biological processes are called biodegradable wastes. It can be
converted into manure/decompostand can be used in agriculture. Eg.
spoilt food, vegetables, fruits peel, paper, leather etc.

2. NON-BIODEGRADABLE WASTES- Wastes that cannot be broken down
by biological processes are called non-biodegradable wastes. It can be
recycled and reuse.

Eg. Glass bottles, metal cans, polythenes, synthetic fibers etc.
Q12. What is the role of decomposer in the ecosystem?

*Decomposer includes micro-organism such as bacteria and fungi that
obtain nutrients by breaking down the remains of dead plants and
animals. They help in the breakdown of organic matter from the body
of dead plants and animals into simple inorganic raw materials such as
CO2, H20 and some nutrients.

Q13. What are tropic levels? Give an example of a food chain and state
the different tropic levels in it.

Q14. How is ozone layer formed?

Ozone is an allotroph of oxygen. It is formed by the three atoms of
oxygen. Its formula is O3.

Ozone is very deadly poisonous gas . High concentration of Ozone layer
is present in stratosphere. It protects the earth from the harmful
ultraviolet rays from the Sun.Whenuv radiation fall on oxygen
molecules not breaks it into two oxygen atom ,which combine with
other oxygen molecules to form ozone.



E DEPLETION OF OZONE LAYER €
WHAT IS OZONE? HOW WAS IT FORMED?

Ozone (03) is a molecule formed by three at

v It shields the surface of the earth from ultraviolet
(UV) radiation from the Sun

v This radiation is highly damaging to organisms, for
example, it is known to cause skin cancer in human
peings

Q15 .What is the reason behind Ozone depletion?How can it be
checked/prevented?

* Scientists have discovered a hole in the ozone layer over the
Antarctic. This has focussed their concern on various environmental
issues and steps to control them. The main reasons for the ozone hole
are chlorofluorocarbons, carbon tetrachloride, methyl bromide and
hydrochlorofluorocarbons. '

* Ozone layer depletion is the gradual thinning of the earth’s ozone
layer in the upper atmosphere caused due to the release
of chemical compounds containing gaseous bromine or chlorine
from industries or other human activities.

Depletion

* This happens when the chlorine and bromine atoms in the
atmosphere come in contact with ozone and destroy the ozone
molecules. One chlorine can destroy 100,000 molecules of ozone. It is
destroyed more quickly than it is created.

* Montreal Protocol was proposed in 1987 to stop the use, production
and import of ozone-depleting substances and minimize their
concentration in the atmosphere to protect the ozone layer of the
earth.

Q16. Difference between Food chain and Food web? Show with
diagram.



Food Chain Food Web

A network of interconnecting food chains in

" a natural community of different organisms
The sequential process of eating and being : fed » foal b
eaten is called a food chain. Is called a TOOCHSSE =

A food chain represents the unidirectional
transfer of energy

Mﬁ)’{ﬁ:ﬂ e O ~¥

Frog Python

-

Q17. State 10% law . Explain it with example of different trophic level.

o
10% LAW

So only 10% of Energy is transferred
to next trophic level while 90%of
energy is used by present trophic
level in its life processes.

Food Pyramid

A graphical representation of various trophic

levels of a food chain in an ecosystem is
called an ecological pyramid or a food
pyramid.

Tertiary
consumers

Secondary
consumers

Primary consumers 1000

-

Producers 10000 J
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General Instructions:

All questions are compulsory.

The question paper has three sections and 15 questions. All questions are
compulsory.

Section—A has 7 questions of 2 marks each; Section—B has 6 questions of 3 marks
each;and

Section—C has 2 case-based questions of 4 marks each.

Internal choices have been provided in some questions. A student has to attempt only
one of the alternatives in such questions.

SECTION-A

1. In humans, the gene for black hair color is B and gene for brown hair
colour is b.What will be the hair colour of person having the genetic
constitution?

2. In a bisexual flower in spite of the young stamens being removed artificially,
the flower produces fruit. How is it possible?

3. A horticulturist took stems of two different plants, plant X with roots and plant
Y without roots. He fixed the cut stem X in soil and fitted and bound tightly
the other cutstem Y over the surface of X. He fastened the joint properly with
the help of polythene. The cut soon healed and the two plant stems (X and Y)
grew together as one plant.

4. What are stems X and Y respectively known as?

5. Why the area where two stems are joined is covered with polythene?

6. ‘Different species use different strategies to determine the sex of a newborn
individual. It can be environmental cues or genetically determined’. Explain
the statement by giving example for each strategy.



7.The figure given below shows the magnetic field between two magnets: [2]

Copy the diagram and label the other poles of the magnets.
8.Which is the weaker magnet?
OR
What is a magnetic field? How can the direction of magnetic field lines at a place be
determined?

9.Basis the understanding of size of the organism and chromosome number, answer

thefollowing questions: [2]

10. Do larger organisms have more number of chromosomes/cells?

11. More the number of chromosomes/cells greater in the DNA content. Justify.
OR

A married woman used a device made of common metal for preventing pregnancy.

This device was put into her uterus by some trained medical professional.

Unfortunately she got pregnant after two months of insertion of device. She was in

shock to learn that her birth control device has failed.

How does device X prevent pregnancy?

12. Why do you think the woman got pregnant even after using device X?

13. What will happen if we kill all the organisms in one trophic level? [2]
OR
In the following food chain, plants provide 500 J of energy to rats. How much energy
will be available to hawks from snakes?
Plants — Rats — Snakes — Hawks

SECTION -B

14. “It is possible that a trait is inherited but may not be expressed.” Give a suitable
example to justify this statement. [3]

15. An electric heater of resistance 10 € and resistance wire of 8 {2 are connected in
serieswith a 6V battery. Find Current through the circuit Potential difference across
the electric heater Potential difference across electric wire[3]



OR
A heater connected to a 230V power source draws 5.5 A current. Calculate
Electric power of the heater
Resistance of the heater
Cost of operating this heater for 20 hours if commercial electricity unit cost is
Rs. 4 [3]

16. Refer to the given food web. [3]

Large fish -« Frogs
A X -

\ )
Small fish < Water beetles ,/ /

7 s T
, / /

ladpoles - /
,/ Water fleas /

‘ b/

Aquatic plants » Insect larvae /

What will be the effect on food web if population of water fleas gets eliminated?
In the given food web, which organism operates at both primary and tertiary
consumer level?

17. (@) Which gas is filled in an electric bulb and why?
(b) State Ohm’s law. [3]

18. An element X belongs to Group 17 and the third period of the periodic table. [3]
Write the electronic configuration of the element. What is its valency?

Predict its nature, whether it is a metal or a non-metal.

Give the formula of the compound formed when it combines with an element Y
having a valency three.

OR

The following table shows the position of six elements A, B, C, D, E and F in the
periodic table. [3]

Group |1 2 3tol12 13 14 (15 |16 (17 |18
Period

2 A B C
3 D E F

Using the above table, answer the following questions:

Which element will form only covalent compounds?

Write the common name for the family of elements C and F.

Which element is a metal with valency 2 and a non-metal with valency 3?



19. A non-metal X exist in two forms Y and Z. Y is a good conductor and Z is a bad
conductor of electricity. Identify X, Y and distinguish between you and Z in terms if
their physical properties. [3]

SECTION -C

20. This section has 02 case-based questions (14 and 15). Each case is followed by
03 sub-questions (a, b and c). Parts a and b are compulsory. However, an internal
choice has been provided in part c.

21. The homologous series is a group of organic compounds having a similar
structure and similar chemical properties in which the successive compounds differ
by a -CH2 group. There are some characteristics of a Homologous series such as
each member ofthe series differs from the preceding one by the addition of a -CH2
group and by 14 a.m.u.
22. All members of a homologous series share the general formula. For example, the
general formula for alkane is CnH2n+2 and alkene is CnH2n. The physical properties
of the members show a gradation in properties as the molecular mass increases. The
chemical properties also show a gradient similarity.
23. Give homologous series of alkanes with an example.
24. State two characteristics of a homologous series.

Select the hydrocarbons which belong to the same homologous series. Give the
name of each series.
CH4, C2H2, C2H4, C2H6, C4H10, C3H4, C3H6
OR
What is meant by 'heteroatom'? Give examples. Write the names and formulae of
twoorganic compounds containing different heteroatoms. [4]

The magnetic field at any point is the combined effect of the magnetic field due to
the current in the wire and the magnetic field of the Earth. Iron filings when placed
near the wire carrying current are arranged in circles due to the magnetic field
producedby the current flowing through the wire. However, at the point far away
from the wire,the magnetic field due to the earth is predominant as compared to the
magnetic field due to current due to which the iron filings are arranged in straight
lines. The point where the two fields are equal and opposite is called the neutral
point. At the neutral point, the net magnetic field is zero and the compass needle at
this point rests in any direction.

How are the magnetic field lines at the point near the straight current-carrying
conductor? [1]

To what parameter is the magnitude of the magnetic field produced by the straight
conductor directly proportional? [1]



Which rule is used to find the direction of the magnetic field produced by the
straight current-carrying conductor? [2]
OR

What according to the rule will be the direction of the current when lines of the
magnetic field are in the anti-clockwise direction?



Solution

SECTION-A

Black hair colour is dominant over brown hair colour.
bb — brown hair
Bb — black hair

When the stamen or the male part of the flower is removed, it will have no effect on
flower-producing capability of the plant because the pistil or the female reproductive
part is still intact. So, by the process of cross-fertilization, the stamen from other plant
might fertilize the pistil of this flower, thereby producing a fruit.

3.

The cut stem of a plant having roots (X) and is fixed in soil is called stock. The cut
stem of another plant (without roots) () is called scion.

The area where two stems are joined is covered with polythene to prevent the lossof
water and cell sap from the cut and joined ends of the stems. It also helps to prevent
harmful infection by bacteria or fungi.

4. Environmental cue: In some animals, the temperature at which fertilised eggs are
incubated determines whether the developing animal in egg is a male or a female. In
some animals like snail, individuals can change sex.

Genetic cue: A child who inherits an X chromosome from the father will be a girl and
the one who inherits a Y chromosome from the father will be a boy.

5.
1)

1) Magnet 2 is weaker because its field lines are smaller than that of the magnet.



OR

The space surrounding a magnet in which magnetic force is exerted, is called a
magnetic field. The direction of magnetic field lines at a place can be determined by
using a compass needle.

A compass needle placed near a magnet gets deflected due to the magnetic force
exerted by the magnet. The north end of the needle of the compass indicates the
direction of magnetic field at the point where it is placed.

6.

No, there is no relationship between size of organism and its chromosome number.
Yes, since the major component of chromosome is DNA, if there are more
chromosomes in a cell, the quantity of DNA will also be more.

OR

Device X (Copper-T) suppresses fertilizing capacity of sperms and thus, prevents
pregnancy.

Intra-uterine devices can be expelled anytime without the knowledge of the woman.
Couples continue active sexual life thinking that their birth control deviceis still in
action.

Killing all the organisms in one trophic level would decrease the availability of food
atthe next trophic level. It will also result in excess of organisms at the previous
trophiclevel. This would cause an imbalance in the food chain.

OR

On applying the 10% law to the given food chain-Plants — Rats — Snakes —
Hawks

Energy available to snakes from rats = 10% of 500

=10/100 x 500 =50J

So, energy available to hawks from snakes = 10% of 50 J

=10/100 x 50 =5J

SECTION -B

Yes, it is possible that a trait is inherited but may not be expressed. For example,
whenpure tall pea plants are crossed with pure dwarf pea plants, only tall pea plants
are obtained in F1 generation. The trait for dwarfness was present but could not
express itself in the presence of the dominant trait for tallness.

On selfing the tall plants of F1 generation, both tall and dwarf plants are obtained in
F2 generation in the ratio 3 : 1. Reappearance of the dwarf character, a recessive trait
in F2 generation shows that the dwarf trait was present in individuals of F1, but it did
not express. It got suppressed in the presence of the dominant trait.



Q.

)V=IR
6==1x(8+10)

1

|=6/18= ~=0.33A
3

1 10 v=333V

i)V = x10
electric heate=
r 3 3
1 8
T)AY = x V=267V
ele 8= _
ctric 3 3
W ire
OR
Power is
P=VI= 230 x5.5=1265 W
=1.265 kW
Resistance of the heater
Vv 230
R== "=4182Q
I 55

Running cost or cost of consumption for 20 hours
Cost=1.265x%x20 x4 =Rs.101.20

10.

In the given food web, water fleas feed on insect larvae and are in turn fed by water
beetles. So, if water fleas get eliminated, then population of insect larvae will
increase and that of water beetles will decrease. As small fish are dependent on water
beetles for food, a decrease in population of water fleas will cause a decrease in their
population as well. Population of frogs remain unaffected as frog also depend on
insect larvae for food.

Small fish operates at both primary and tertiary consumer level in the gven food web.
Aguatic plant — Small fish — Large fish

Aquatic plant — Insect larvae — Water fleas — Small fish — Large fish

11.(a) Argon or neon gas is filled in electric bulbs.

These gases are used because they are inactive or inert. This prolongs the life of the
filament.

(b) Ohm’s law: At a constant temperature, the current flowing through a conductor is
directly proportional to the potential difference across its ends.



12.
Electronic configuration of the element is 2, 8, 7 and its valency is 1.
Non-metal



The formula of the compound formed when element X combines with an element Y
Is YX3.

OR

Element E will form only covalent compounds.

Noble gases

Element D is a metal with valency 2 and Element B is a non-metal with valency 3.

13.

A non-metal X is a carbon. The two forms Y and Z are graphite and diamond.
Graphite is a good conductor of electricity while diamond is a bad conductor.
Difference between the properties of diamond and graphite:

Diamond is a very hard while graphite is soft.

Diamond is a bad conductor of electricity and graphite is a good conductor of
electricity.

SECTION-C

14,

Homologous series of alkanes: Methane, CH4; Ethane, C2H6; Propane,
C3HS;

Butane, C4H10; Pentane, C5H12

(i) All the members of the homologous series can be represented by the same
general formula.

(i1) Any two adjacent homologues differ by 1 carbon atom and 2 hydrogen atoms in
their molecular formulae.

Alkanes: CH4, C2H6, C4H10 Alkenes: C2H4, C3H6 Alkynes: C2H2, C3H4

OR

In an organic compound, any atom other than carbon and hydrogen is called a
heteroatom. Examples: Chlorine (CI), Bromine (Br), Oxygen (O). In chloromethane
(CHB3CI), chlorine is the heteroatom. In methanol (CH30OH), oxygen is the
heteroatom.

15.
The magnetic field lines around the straight conductor carrying current are
concentric circles whose centre lies on the wire.

The magnitude of the magnetic field is directly proportional to the current
passingin the wire.
Maxwell’s right-hand thumb rule is used to find the direction of magnetic field
produced by the straight current-carrying conductor.
OR
According to Maxwell’s right-hand rule, the current will be flowing in the upward
direction when the direction of the magnetic field is in the anti-clockwise direction.
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SECTION A

Why does graphite conduct electricity, but not diamond? 2

In the modern periodic table, the element Calcium (atomic number = 20) is 2
surrounded by elements with atomic numbers 12, 19, 21 and 38. Which of these
elements has physical and chemical properties resembling those of Calcium and why?

a. Give example of two bacterial and two viral sexually transmitted diseases. 2
b. Name the most effective contraceptive which prevents spread of such diseases.

a. Write the name of the male reproductive organ that produces sperms and secretea | 2
hormone.
b. Name the hormone secreted and state its function.

How many contrasting characters did Mendel observed in garden pea? 2
Give the pair of contrasting traits of the following characters in pea plant and mention
which one is recessive and which is dominant?

a) Seed colour b) Seed shape
OR
Why did Mendel choose pea plants for his experiments? Give any two reasons.

What are magnetic field lines? 2

Justify the following statements
(@) Two magnetic field lines never intersect each other.
(b) Magnetic field lines are closed curves.

OR
The given magnet is divided into three parts A, B, and C.

AIBiC

a) Name the parts where the strength of the magnetic field is:
(i) maximum (ii) minimum.
b) How will the density of magnetic field lines differ at these parts?




Give reason to justify the following:
a) The existence of decomposers is essential in a biosphere.
b) Flow of energy in a food chain is unidirectional.

OR
a) What are trophic levels in a food chain?

b) In the following food chain, plants provide 500 J of energy to rats. How much of
energy will be available to hawks from snakes?

Plants > Rats > Snakes > Hawks




SECTION B

8 | The elements of the second period along with their atomic numbers in parentheses are

given below:

B (5), Be (4),0(8), N (7), Li (3), C (6), F (9)

a) Arrange them in the same order as they appear in the periodic table.

b) Which element has the largest and smallest atom?

¢) Why does atomic radius change as we move from left to right in a period?

9 | @ Why homologous series of carbon compounds are so called?

b) Write chemical formula of two consecutive members of a homologous series
c)State the part of these compounds that determines their
(i) physical properties, and (ii) chemical properties.
OR
a)What are structural isomers?
b) Draw the structural isomers of
I. Butane, C4Hsp.
ii. Pentane : CsHj»

10 | In across between plants with purple flowers and plants with white flowers, the F1
had all white flowers. When F1 generation was self-bred, the F2 generation gave rise
to 100 individuals, 75 of which had white flowers. Make a cross and answer.

(a) What are the genotypes of F2 individual?
(b) What is the ratio of purple flowered plants in F2 generation?

11 | Anelectric lamp of 100 Q, a toaster of resistance 50 Q, and a water filter of resistance
500 Q are connected in parallel to a 220 V source. What is the resistance of an
electric iron connected to the same source that takes as much current as all three
appliances, and what is the current through it?

12 | Two coils of resistance Ry = 3Q and R, = 9Q are connected in series across a battery
of potential difference 14 V. Draw the circuit diagram. Find the electrical energy
consumed in 1 minute in each resistance.

OR
Two identical wires one of nichrome and other of copper are connected in series and
a current (1) is passed through them.
I)State the change observed in the temperatures of the two wires. Justify your answer.
ii)State the law which explains the above observation.

13 | Explain phenomenon of “biological magnification”. How does it affect organisms

belonging to different trophic levels particularly the tertiary consumers? Name one
substance that shows biological magnification.




SECTION C

14

Pea plants can have smooth seeds or wrinkled seeds. One of the phenotypes is
completely dominant over the other. A farmer decides to pollinate one flower of a
plant with smooth seeds using pollen from plant with wrinkled seeds. The resulting
pea pod has all smooth seeds.

a. What will be set of genes present in the F1 generation? (1 Mark)

b. Give reason why only smooth seeded plants are observed in F1 progeny. (1 Mark)
c. When F1 plants were self - pollinated, a total of 1200 plants were produced. How

many of these would be smooth seeded? Give the genotype of F 2 generation. (2
Marks)

OR

When F1 plants were cross - pollinated with plants having ss genes, a total of 1200

plants were produced. How many of these would be smooth and wrinkled seeded
plants? Give the genotype of F2 generation.

15

Two coils of insulated copper wire are wound over a non -conducting cylinder as
shown. Coil | have larger number of turns.

a) Write your observations when,
(i) key K is closed,
(i) key K is opened.
Coii 1 Coil 1}

C_ (-

K
—l H '—(.)—
b) When the current is passed continuously through coil I.
Give reason for your observations.

(c) State the phenomenon responsible for the above observation and write one
application of it.

0

OR
(d) State the rule that is used to determine the direction of current produced in this
phenomenon.
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NATIONALISM IN INDIA

| WORLD WAR
1. How did the First World War help in the growth of Nationalist
Movement in India?
Ans. The First World War helped in the growth of Nationalist movement
in India as:
IThe war created a new economic and political situation.
Il It leads to an increase in defense expenditure.
11l The war led to a price rise and hardship for common people.
Iv Acute shortage of food leads to famine and misery.
v Forced recruitment of soldiers from villages caused widespread anger.

2. Explain Gandhi's Satyagraha movement after arriving in India?

Ans. Satyagraha was a method which emphasized upon the power of truth
and the need to search for truth. It suggested that if the cause was true and
iIf the struggle was against injustice, then physical force is not necessary

to fight the oppressor.

3.Explain Gandhi's three Satyagraha movements after arriving in India ?
Ans. The three Satyagraha movements of Gandhiji after arriving in India
are:

1 1916 - He travelled to Champaran in Bihar -

REASON- Against the oppressive indigo plantation system.

11 1917 - Kheda district in Gujarat



REASON -to support the peasants of Kheda in Gujarat who demanded
relaxation of the revenues because of crop failure and plague epidemic
111 1918 - Ahmedabad

REASON - for cotton mill workers to help a rise in wages.

3. Why did Gandhiji decide to launch a nationwide Satyagraha against the
proposed Rowlatt Act of 1919? How was it organised? Explain.

Ans. Gandhiji decide to launch a nationwide Satyagraha against the the
proposed RowlattAct of 1919 because of the following reasons -

"] Rowlatt act gave the government enormous powers to repress political
activities and allowed detention of political prisoners without trial for two
years.

] It was organised in the following ways:

i1t was started with hartal on 6 April 19109.

Il Rallies were organised in various cities in India

11l Workers in the railway workshop went on strike.

Iv Shops were closed down in protest.
NON - COOPERATION:

4. What was the method used in the non - cooperation movement?

Or

Explain various stages of non cooperation movement?

Ans . The various stages of non cooperation movement are:

I. Surrender of titles that the government awarded

Il. Boycott of civil services, Army, police, courts and legislative councils.

lii. Boycott of schools, foreign goods and national education.

DIFFERING STRANDS WITHIN THE MOVEMENT:
5. How did the non cooperation movement spread in the cities across the
country? Explain its effects on the economic front.
Ans.Thenon cooperation movement spread in these ways:
1. It was started with middle class participation in the cities.



Il. Thousands of students left government control schools and colleges.
lli. Teachers resigned and the lawyers gave up their practices.

Iv. The council elections were boycotted in most provinces.

v. Foreign goods were boycotted and liquor shops picketed.

6. Why did the non cooperation movement gradually slow down in the
cities? Explain,

Ans.Thenon cooperation movement slowed down in the cities for various
reasons:

I. Khadi cloth was more expensive for the poor.

Il. No alternative Indian Institution to accommodate Indians.
li. Students and teachers begin going back to government schools
Iv. Lawyers joined government Courts.

7. How has the non cooperation movement spread to the countryside?
Explain.

Ans. Non cooperation movement spread to the countryside in the
following ways:

I. In Awadh, peasants were led by Baba Ramchandra, against
talukdars, who charged high rents and peasants had to beggar. They
demanded reduction of revenue and abolition of begar. (By the end of
1920, Jawaharlal Nehru, Baba Ramchandra and others had formed the
Oudh Kisan Sabha.)

il. In Gudem Hills in Andhra Pradesh, a militant guerrilla movement
was organized under the leadership of Alluri Sitaram Rajuagainst
colonial oppression- where their forest rights were being denied.

They attacked Police stations, attempted to kill British officials and
carried on guerrilla warfare for achieving Swaraj.

iii. Plantation workers in Assam were not permitted to leave the tea
gardens without permission.

Demanded freedom meant right to move freely in & out of the confined
space in which they were enclosed.



TOWARDS CIVIL DISOBEDIENCE

8. “The Civil Disobedience Movement was different from the non
cooperation movement.” Support the statement with examples.

The Non Cooperation The Civil Disobedience

movement Movement
1 was launched in 1920 launched in 1930 with
Dandi march

2 People were not people were asked to
following the rules of  break the colonial
government laws.

3 women did not Women participation
participate in this was on a large scale.
movement

4 was carried out It was carried out by
through peaceful breaking salt law and
demonstrations and forest laws besides
picketing foreign holding
shops demonstrations.

5 Main participants were Main participants were
the middle class from  businessmen in cities
cities, peasants from  and rich peasants in
the countryside and the countryside
plantation workers
from Assam.

6 This movement was This movement was
launched in order to launched basically to
unify Hindus and attain Purna Swaraj.
Muslims and to attain
Swaraj.

7 It was withdrawn in 1922 It was withdrawn in 1931
after the Chauri Chaura after the signing of
incident. Gandhi Irwin pact, and in

the next phase it loses its
effect.



9. Why did the different social groups join the civil disobedience movement?
Explain.

Ans. The different social groups join the civil disobedience movement for these
reasons:

I. Rich Peasants- rich peasants like Patidar of Gujarat and jats of Uttar Pradesh,
they joined the movement because being producers of commercial crops they were
hard hit by depression and falling prices.

Demanded reduction in revenues.

Il. Poor Peasants- they join the struggle because they found it difficult to pay the
rent.

They wanted the unpaid rent to be remitted.

lli. Rich business classes- they were against colonial policies which restricted
trade.

They wanted protection against Import of foreign goods.

Iv. The Industrial working classes- They did not participate in large numbers,
except in the Nagpur region. They adopted boycott of foreign goods, against low
wages & poor working conditions.

v. Role of women - They participated in protest marches, manufactured salt and
picketed foreign cloth and liquor shops. Many went to jail.

10. How did the Salt Satyagraha become an effective tool of resistance against
British colonisation in India during 19307 Explain.

Ans. Salt becomes an effective tool of resistance against colonialism because of
the following reasons:

a) Gandhiji saw salt as a powerful symbol for uniting the nation

b) He found that salt was something consumed by the rich and the poor alike.
c) It was an essential item of food.

d) He thought that tax on salt and the government monopoly over its production,
the Britishers had shown their most oppressive face.

e) That is why Gandhiji decided to start his civil disobedience movement bi
manufacturing salt and violated the law.

11. Explain the reasons for the lukewarm response of some groups to the civil
disobedience movement specially Muslim organisations?

Ans. The reasons for the lukewarm response of some groups to the civil
disobedience movement are because of these reasons :



I. Association of Congress with Hindu Mahasabha: After the decline of non
cooperation Khilafat movement the Congress came to be more visible and
associated with openly Hindu religious nationalism groups like the Hindu
Mahasabha.

il. Communal clashes: As relations between the Hindus and the Muslims
worsened, each community organised religious processions with militant fervour,
provoking Hindu Muslim communal clashes and riots in various cities.

li. Issue of demand for separate electorates: Some of the Muslim leaders
demanded a separate electorate for the Muslim which was not supported by the
Congress leaders.

Iv. Status of Muslims in Hindu majority state: Many Muslim leaders and
intellectuals feared that the culture and identity of Muslim minorities would be e
submerged under the domination of a Hindu majority.

v. Issue of Reserve seats in the central assembly: Muslim League leader
Muhammad Ali Jinnah demanded reservation of seats for the Muslims in the
central assembly which was not acceptable to the Congress leaders.

THE SENSE OF COLLECTIVE BELONGING
12. How did people belonging to different communities, regions and language
groups develop a sense of collective belongingness?
or
“Nationalism spreads when people begin to believe that they are all part of the
same Nation” support the statement.
Ans. A variety of cultural processes play an important role in making of
Nationalism in India in following ways:
I. Cultural processes: history and fiction, folklore and songs, popular prints and
symbols, all played a part in the making of nationalism.

Il. Bharat Mata as the identity of the nation : In the 20th century ,various images
of Bharat Mata came to light. The image of Bharat Mata was created in 1870 by
Bankim Chandra Chattopadhyay who also wrote VandeMataram as hymn to the
motherland.

Abanindranath Tagore portrait Bharat Mata, as a calm, composed and spiritual
figure. It was influenced by the Swadeshi Movement.

ii. Indian folklore : Rabindranath Tagore revived folk songs, folk tales, hymns,
legends and stories. in Madras NatesaSastri published a collection of Tamil folk
tales and The folklore of Southern India.



iv. Flag as identity of the nation : during the Swadeshi Movement flags were
carried to create a sense of national belonging.

V. Re-interpretation of history: many Indians wrote about the glorious
developments in ancient times, when art and architecture, mathematics and
Science flourished. They urged the readers to take pride in their glorious past.

A. HISTORY (Outline Political Map of India)
Chapter 2: Nationalism in India (for both Locating & Labelling and Identification)

1. Indian National Congress (INC) Session:
S. Question Answer
1. | The place where the Indian National Congress Session was held in Sep | Calcutta (West
1920 Bengal)
Sep 1920
2. | The place where the Indian National Congress Session was held in Dec Nagpur
1920 (Maharashtra)
Dec 1920
3. | The place where the Indian National Congress Session was held in | Madras
1927 (TamilNadu)1927
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2. Important Centres/Places of Indian National Movement:

S.N. Question Answer

L. The place from where the movement of Indigo planters was started OR Champaran
The place known for the movement of the Indigo planters during the British period OR (Bihar) 1917
The place where a Satyagraha was launched against the oppressive Indigo plantation
system by Gandhi ji

2 ii) The place where Satyagraha of Cotton Mill Workers was held OR Ahmedabad
The place associated with the protest/Hartal (Stike) of Cotton Mill Workers OR (Gujarat) 1918
The place where Gandhi Ji started/organised/launch a Satyagraha in favour of Cotton
Mill Workers.

3. The place where Gandhi ji organized/started/launched a Satyagraha in support of Kheda
peasants of Gujarat. OR (Gujarat)
The place where a peasants Satyagraha was started/launched by Gandhji 1918

4. The place from where civil disobedience movement/Salt Satyagraha Dandi
started/organized/launched OR (Gujarat)
The place where Gandhiji broke/violated Salt Law 1930

5. The place/city where the Jallianwalla Bagh Incident/Massacre took place Amritsar(Punjab)

13 April, 1919

6. The centre/place of calling off/withdrawing the Non-Co-operation Movement by | Chauri-Chaura
Gandhiji OR (Gorakhpur, UP)
The Place where 22 Policeman were burnt forcing Gandhi ji to call off/withdraw the 1922

| Non-Co-operation Movement

MANUFACTURING INDUSTRIES

VERY SHORT ANSWER TYPE QUESTIONS

I. Where was the first successful textile mill established in India?

Ans :Mumbai 1854,

1. Where was the first cement plant set up in India?

Ans. Chennai 1904.

1i. Which city in India is one of the centres around which the automobile industry
is located?

Ans. Gurgaon/ Gurugram.

iv. Which industry has been a major foreign exchange earner in the last few years?
Ans. IT sector.

v. Which air service provides services to ONGC in its offshore operations?

Ans. Pawanhans Helicopters Ltd.

vi. Which steel plant is located in Chhattisgarh?

Ans. Bhilai steel plant.

vii. On what basis are the small scale and large scale industries classified?



Ans. Capital Investment.

viii. Why is least cost known as a decision making factor for the ideal location of
an industry?

Ans. To earn maximum profit.

iIX. What is manufacturing?

Ans. Production of goods after processing from raw material to more valuable
products.

X. Which industry is the largest industry in India today, contributing 14% of the
total industrial production?

Ans Cotton textile industry.

SHORT ANSWER TYPE QUESTIONS
1. “Agriculture and industry are complementary to each other ” Justify the
statement.
Ans.
I. Agriculture provides raw material for industries

Ii. Agriculture gets its basic input from the manufacturing.
iii. Industries help in the modernization of agriculture.

2. Why did the traditional cotton textile industry of India receive a set back during
the colonial period?

Ans.

I. At first traditional producers were controlled by foreign exporters.

il. Indian markets were flooded with cheap foreign clothes made from British
industries

1i1. Indian weavers find it hard to find raw cotton.

3. Classify the industries on the basis of ownership and give one example ofeach
category. Ans.

I. Public sector— BHEL, SAIL etc.

Il. Private sector-TISCO, Bajaj Auto Ltd., Dabur Industries.

ii. Joint sector-Oil India Ltd.

iv. Cooperative sector- sugar industry in Maharashtra, the coir industry in Kerala.



4. Why does the north eastern part of the peninsular plateau region have the
maximum concentration of iron and steel industries ?

Ans.

I. large deposits of iron ore and coal are available here.

1. Water is available from reservoirs and rivers .
ili. Means of transport facilities are available here.

5. Explain any three factors responsible for the location of the cotton textile
industry in Mumbai and Ahmedabad.

Ans.

I. Cheap labour

1. Water availability (dyeing etc.)
Ii. Power source
Iv. Good transportation system.

6. Mention any three objectives of National Jute Policy,2005.

Ans.

I. In 2005, the government formulated the National Jute Policy with the objective
of Increasing productivity

Il. improving quality

1. Ensuring good prices to jute farmers and enhancing the yield per hectare.

7. Discuss the steps to be taken to minimise environmental degradation by
industries .

Ans,

I. Industrial waste must be recycled as much as possible.

il. The solid waste of industries should not be thrown in running water. i.e.(River,
lake)

ii. Deforestation should be avoided as more and more trees are being cut down to
set up new industries.

Iv. Industries are now given a certain area which they cannot extend or use
materials in excess from the environment.

8. “Industrialisation and urbanisation go hand in hand”. validate the statement.
Ans. The given statement is justified because:



I. Industrialisation causes growth in available factory jobs. Thus, as the
employment rate increases it pulls people from various places and leads to
urbanisation.

1. People start moving towards cities for jobs and they gradually develop into
urban centres.

i1i. Sometimes industries are located in or near cities.

Iv. Cities provide markets and also provide services such as banking, insurance,
transport, labour, consultants and financial advice, etc to the industry. Thus, it can
be concluded that industrialisation and urbanisation go hand in hand.

Long Answer Type Questions
1. Mention any six factors responsible for the location of jute mills in the Hooghly
basin.
Ans:
I. Proximity of the jute producing areas.
Il. Inexpensive water transport, supported by a good network of railways and
roadways.

ii. Abundance of water for processing raw jute.
Iv. Availability of cheap labour from nearby areas.
v. Kolkata port provides facilities for export of jute goods.

vi. Kolkata as a large urban centre that provides banking, insurance and other
commercial facilities

2. Discuss the role of NTPC in paving the way to control environmental
degradation.

Ans. National Thermal Power Corporation is a major power providing Corporation
in India. It has ISO certification for Environment Management System (EMS)
14001. The NTPC has a proactive approach for preserving the natural environment
and resources like water, oil, gas and fuels in places where it is setting up power
plants. This is achieved through the following methods:

I. Optimum utilization of equipment adopting latest techniques and upgrading
existing equipment.

il. Minimizing waste generation by maximizing ash utilization.



li. Providing green belts for nurturing ecological balances and encouraging
afforestation.

Iv. Reducing environmental pollution through ash pond management, ash water
recycling system and liguid waste management.

v. Ecological monitoring reviews and online database management for all its
power stations.

3. In which region are most of the jute mills of India concentrated? Why? List any
four challenges faced by this industry.

Ans. The region where most of the jute mills of India are concentrated

I. West Bengal is the store house of jute. It produces the highest number of bales of
jute fibre.

Il. This industry requires a lot of water which is easily available from the Hugli
River.

ii. Iron and coal which are required for the installation and running of jute
factories are also available from the nearby mines of Ranigan;.

iv. Cheap Labour is easily available because of incoming labour from the adjoining
provinces of Bihar and Orissa.

Problems of jute textile industry:
I. Demand for jute products has decreased due to synthetic substitutes in national
and international markets.

Ii. India faces a problem of shortage of raw jute as most of the jute growing areas
went to Bangladesh after partition.

iii. Outdated machinery and methods of processing jute.
Iv. Shortage of Power Supply and High cost of production.

4. Which factors are responsible for shifting of sugar mills to southern and western
states ? Mention two challenges faced by the Sugar industry.

Ans. The factors responsible are:

I. The yield per hectare of sugar cane is high in south India.

il. The sucrose content in sugarcane is high in southern India.

Iii. The southern states have installed new mills where productivity is high and
production cast is low.

iv. Climatic conditions are ideal.
v. The cooperative movement has helped to install new mills in this area.



The major challenges of the sugar industry in India are given below:
I. The sugar industry is seasonal in nature.

Il. The methods of production are old and inefficient.

CHAPTER 6
MANUFACTURING INDUSTRIES
(LOCATING AND LABELLING
ONLY)
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LIFELINE OF INDIAN ECONOMY

1. Today the world has become a “global village”. Justify this statement.

Ans: Today the world has become a “large village” because of efficient and fast
means of transport and development of telecommunication and satellite
communication systems.

2. “Efficient means of transport are prerequisites for the fast development of the
country.” Express your views in favour of this statement.

Ans: India is well linked with the rest of the world despite its vast size and
diversities because of efficient means of transport and communication. They are
rightly called the lifelines or arteries of a nation because:

I. Economic development of a country depends on the well developed and efficient
means of transport and communication.

Ii. They are indispensable for movement of people, goods and services from one
place to another.

Ii. They have contributed to socio-economic progress in many ways by connecting
far flung areas of the country.

Iv. They have enriched all aspects of our lives — social, cultural, individual and
economic.

v. They promote trade, tourism and business thus adding value to the economy.

vi. Transport and communication have made possible international trade which is
essential for every economy as no country is self-sufficient in all resources.

3. Why is road transport more useful than rail transport in India?. Give reason.
Ans: Roadways have an edge over the railways due to the following reasons:

I. Construction of roads is easier and cheaper as compared to railways.

1. Roads provide door to door service, thus the cost of loading and unloading is
much lower as compared to railways.

Ili. Roads can negotiate higher gradients of slope and, as such, can traverse through
mountainous terrain. But railways cannot.



Iv. Road transport is economical in transportation of few persons and relatively
smaller amount of goods over short distances.
v. Road transport is also used as a feeder to other modes of transport.

vi. They link agricultural farms with markets and industries, thus linking rural and
urban areas.

4. List four factors which favoured the development of dense network of railways
in the northern plains.

Ans: Four reasons for dense network of railways in northern plains are:

I. The vast level land provided the most favourable conditions for their growth.
. It is cheaper and easier to construct railway tracks here.

lii. The agricultural and industrial development in this region necessitated the
development of railway lines.

Iv. High population density in this region further required the development of
railway lines.

v. Resources such as iron and steel, fuels, etc., required for the development of
railways are available in abundance in the northern plains.

5. What are the advantages of pipeline transportation?

Ans: Advantages of pipeline transportation:

I. Pipelines can transport liquids, gases and solids (in slurry form) to any distance.
Ii. Pipelines are used for transporting crude oil, petroleum products and natural gas
from oil and natural gas fields to refineries, fertilizer factories and big thermal
power plants.

iii. Initial cost of laying pipelines is high but subsequent running costs are minimal.
Iv. It reduces trans-shipment losses and delays.

v. They can be laid in any terrain and even through the water-bodies.

6. Write two merits of waterways in India.
Ans:
I. Waterways are the cheapest means of transport.

Il. Waterways are a fuel efficient and environment friendly mode of transport.

7. Write two merits of Air travel. Also mention any two demerits of air transport.



Ans: Merits of Air travel:

I. Air travel is the fastest, most comfortable and prestigious mode of transport.

Il. India is a vast country with wide variation in relief.

1i. Air transport can cover difficult terrains like high mountains of the Himalayas,
the Western Ghats, dreary deserts of Rajasthan, dense forests and long coastlines
with great ease.

Demerits of air travel:

I. They are unsuitable for carrying heavy and bulky goods and costly.

ii. India’s trade with foreign countries is carried from the ports located along the
coast, and more than 95% of the country’s trade volume is moved by the sea.

8. What are ‘Border Roads Organisation’? What is their significance?
Ans: Border roads run along the land frontiers of our country in the northern and
north-eastern border areas.

The Border Road Organisation (BRO) — a department of the Central

Government was established in 1960 for the development of border roads.
Their construction and maintenance is the responsibility of the Central
Government.

Importance of Border Roads:

I. These roads are of strategic importance.

Il. They have increased the accessibility in areas of difficult terrain and have
helped in the economic development of these areas.

lli. They are the supply lines for our jawans (soldiers) who guard our land
frontiers.

9. Why is ‘tourism’ considered as a trade and industry in India? Give reasons in
support of your answer.

OR

Why is tourism important for the Indian economy? Give reasons.

Ans: Importance of tourism are:

I. With increase in the number of foreign tourists visiting India, we earned foreign
exchange worth Rs. 21,828 crore in 2004 which is further increasing year by year
making tourism an important trade.

il. Over 2.6 million foreign tourists visit India every year for appreciating our
heritage, our culture for medical purposes or for business purposes, etc.



ii. Over 15 million people are directly engaged in the tourism industry.

Iv. Tourism promotes national integration, provides support to local handicrafts
and cultural pursuits.

v. Tourism also helps in the development of international understanding about our
culture and heritage.

vi. Rajasthan, Goa, Jammu & Kashmir and temple towns of south India are the
most popular tourist destinations. These states earn huge sums of money from
tourism trade.

10. CASE BASED QUESTIONS
Ever since humans appeared on the earth, they have used different means of
communication. But the pace of change, has been rapid in modern times. Long
distance communication is far easier without physical movement of the
communicator or receiver. Personal communication and mass communication
including television, radio, press, films, etc. are the major means of
communications in the country. The Indian postal network is the largest in the
world. It handles parcels as well as personal written communications. Cards and
envelopes are considered first class mail and are airlifted between stations covering
both land are air. The second class mail includes book packets, registered
newspapers and periodicals. They are carried by surface mail, covering land and
water transport. To facilitate quick delivery of mails in large towns and cities, six
mail channels have been introduced recently, They are called Rajdhani channel,
Metro channel, Green channel, Business channel, Bulk Mail channel and
Periodical channel.

10.1. What are the major means of communications?
Ans. Personal communication and mass communication are the major means of
communications.

10.2. Why six mail channels have been introduced?
Ans. Six mail channels have been introduced to facilitate quick delivery of mails in
large towns and cities.

10.3. Examine the role of the Indian postal network.
Ans. It has helped the country to engage in communication and social-economical

development. It provides various facilities like speed post, business post, registered
post, ordinary post.
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POLITICAL PARTIES

Very short answer type questions: (two marks)
1. What is meant by ‘Political Party’?

Ans: A political party is a group of people come together to contest elections to
hold power in the government.

Short answer type questions: (three mark)

2. Define one party system, two party system and multi-party system with one
example each.

Ans: ONE PARTY SYSTEM is a system in which only one party is allowed to
control and run the government. e.g.:- China

TWO PARTY SYSTEM is a system in which two parties compete to run the
government. e.g.:- USA, UK

MULTI-PARTY SYSTEM is a system in which various parties come together for
running the government in a coalition. e.g.:- India

3. Differentiate between national and regional parties.

Answer: S. No. National Parties Regional Parties

1 A party that A party that
secures at least 6% secures at least 6%
of total votes in of the total votes in
Lok Sabha an election to the
elections or Legislative

Assembly elections Assembly of a state
in four states and and wins at least
wins at least four two seats is

seats in the Lok recognised as a
Sabha is state party or
recognized as a regional party.
national party.

2 National parties Regional parties

will have influence will have influence



In more than three in three states. For

states. For example:

example: INC, Samajwadi Party,

BJP. Samata Party,
Rashtriya Janata
Dal, DMK,
AIADMK.

4. Analyse the three components of a political party.
Ans: Three components of a political party are:

I. The leaders: A political party consists of leaders, who contest elections and if
they win them, perform the administrative job.

Il. The active members: They are the ones, who climb a ladder from being the
follower and become the assistants of the leaders to gain knowledge about the
politics.

ili. The followers: They are simply the ardent followers of the leaders and work
under the able guidance of the active members.

Long answers type questions: (five marks)

5. Describe any five major functions of political parties.
Ans:
I. Parties contest elections

Il. Parties put forward different policies and programmes and the voters choose
from them.

iii. Parties play a decisive role in making laws for a country.

Iv. Parties form and run governments

v. Those parties that lose in the elections play the role of opposition.
vi. Parties shape public opinion.

vii. Parties provide people access to government machinery and welfare schemes
implemented by governments



6. “Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

Ans: “Political parties are necessary condition for a democracy” because:

I. Without political parties, democracies cannot exist.

Il. If we do not have political parties; in such a situation every candidate in
elections will be independent.

ii. No one will be able to make any promises to the people about any major policy
changes.

iv. The government may be formed but its utility will remain uncertain.

v. Elected representatives will be accountable to their constituency for what they
do in their locality.
vi. But no one will be responsible for how the country will run.

vii. The role of opposition party in a democracy necessitates the existence of
political parties.

viii. As societies become large and complex they also need some agencies to
gather different views on various issues and to present these to the government,
that’s why political parties are needed.

7. Explain any four problem areas in the working of political parties.

Ans:

I. Lack of internal democracy: The first challenge is lack of internal democracy
within parties. Concentration of power in one or few leaders at the top.

1. Dynastic succession: Favour people close to them or even their family members.
In many parties, the top positions are always controlled by members of one family.
iii. Money and muscle power: The third challenge is about growing role of money
and muscle power in parties, especially during elections.

iv. Meaningful choice: The fourth challenge is that very often parties do not seem
to offer a meaningful choice to the voters.

8. Suggest and explain any five measures to reform political parties.

Ans: Effective measures to reform political parties are:
I. A law should be made to regulate the internal affairs of political parties.



. It should be made compulsory for political parties to maintain a register of its
members.

ii. It should be made mandatory for political parties to give a minimum number of
tickets; about 1/3rd to its women candidates.

Iv. There should be a quota for women in the decision making bodies of the party.
v. There should be state funding of elections.

vi. The government should give parties money to support their election expenses in
kind for example petrol, paper, telephone, etc., or in cash.

OUTCOMES OF DEMOCRACY

1. “Democratic government is legitimate government?”” Support the statement with
arguments.

Ans: Democratic government is said to be a legitimate government. It may be
slow, less efficient, not always very responsive or clean, but a democratic
government is peoples’ own government. That is why there is an overwhelming
support for the idea of democracy all over the world.

2. “Democracy accommodates social diversities.” Support the statement with
examples.

Ans: “Democracy accommodates social diversities” in the following ways:

I. Democracies develop a procedure to conduct their competition. This reduces the
possibility of these tensions becoming explosive or violent.

I1. No society can fully and permanently resolve conflicts among different groups.
But we can certainly learn to respect these differences and can evolve mechanism
to negotiate these differences.

Example, Belgium has successfully negotiated differences among ethnic
population. This reduces the possibility of tensions.

3. How is democracy accountable and responsive to the needs and expectations of
the citizens? Analyse.

Ans: Democracy is accountable and responsive to the needs and expectations of
the citizens because:

I. In a democracy people have the right to choose their representatives and the
people will have control over them.



Ii. Citizens have the right to participate in decision making that affects them all.
This ensures that the working of the government is transparent.

ili. Everybody expect the government to be attentive to the needs and expectations
of the people.

Iv. It is expected that the democratic government develops mechanisms for citizens
to hold the government accountable.

v. The opposition parties can also question and criticize the government policies.
They keep a check on the ruling party and make sure that it does not misuse the
power.

4. ‘‘Some people think that democracy produces a less effective government.’’
Analyse the statement.
Ans: It is true some people think that democracy produces a less effective

government because :

I. Non-democratic rulers do not have to bother about deliberation in assemblies or
worry about majorities and public opinion.
Il. They can be very quick and efficient in decision-making and implementation.

ili. But democracy is based on the idea of deliberation and negotiation. So, some
delay is bound to take place.

Iv. Most democracies fall short of elections that provide a fair chance to everyone.
v. Democratic governments do not have a very good record when it comes to
sharing information with citizens.

vi. Democracies often frustrate the needs of the people and often ignore the
demands of a majority of its population

5. ‘‘Democracies accommodate various social divisions. *’Support the statement.
Ans: Democracies accommodate various social divisions:

I. Democracies are based on political equality. All individuals have equal weight in
electing representatives.

il. Democracies lead to peaceful and harmonious life amongst citizens.

i1i. Democracies accommodate various social divisions as Belgium has
successfully negotiated differences among ethnic population.

Iv. In a democracy we learn to respect the social differences and we can also
evolve mechanism to negotiate the differences.

v. It has the ability to handle social difference, divisions and conflicts.



vi. Democracy not always a rule by majority opinion. It also needs to work with
minority.

6. ‘‘Complaints are treated as testimony to the success of democracy.”” Support the
statement with examples.

Ans: 'Complaints are itself a testimony to the success of democracy'.

I. People look critically at power holders and the high & the mighty.

Il. A public expression of dissatisfaction with democracy shows the success of the
democratic project

ii. It transforms people from the status of a subject into that of a citizen.

Iv. Most individuals today believe that their vote makes a difference to the way the
government is run and to their own self-interest.

7. “Democracies are not appearing to be very successful in reducing economic
inequalities.” Analyse the statement.
Ans: Democracy and the economic outcomes:

I. Slow economic development and economic growth due to population.
Ii. Basic needs of life, such as food clothing, shelter are difficult to make.
iii. Prevalence of Economic. In equalities.

Iv. Poverty is still a big issue.

v. Allocation of resources in few hands

vi. Unjust distribution of goods and opportunities.
8. Describe any five features of democracy.

Ans: Features of Democracy:
I. Promotes equality among citizens.

1. Enhances the dignity of the individual.

ili. Improves the quality of decision making.

Iv. Provides a method to resolve conflicts amicably.
v. Allows room to correct mistakes.

9. ““Democracy is a better form of government than any other form of
government.’’ Justify the statement.

Ans: Democracy as better form of government:

I. Promotes equality among citizens

il. Enhances the dignity of the individual

ili. Improves the quality of decision making



Iv. Provides a method to resolve conflict

v. Allows room to correct mistake.

vi. Democracy is more accountable, responsive and legitimate government.
vii. Democracy accommodates social diversities in a better manner.

10. ‘‘Democracy is based on political equality.”” Support the statement with
examples.

Ans: Democracy is based on political equality.

I. Democracy have formal constitutions

Il. They hold elections

ili. They have parties

Iv. They guarantee rights of citizens.

v. Promotes equality among citizens

vi. Enhances the dignity of the individual

vii. Improves the quality of decision making

viii. Provides a method to resolve conflict

iX. Democracy guarantees right to vote to all citizens.

11. “Democracies lead to peaceful and harmonious life among citizens.” Support
the statement with examples.

Ans: Democracies lead to peaceful and harmonious life:

I. Develop procedure for creating harmony in society

Ii. Learn to respect differences.

ili. Evolve mechanism resolve conflicts.

Iv. Ability to handle social differences.

V. Respect dignity of individual

vi. Frame policies for the welfare of people
vii. Promotes equality among citizens.

viii. Enhances the dignity of the individual.

MONEY AND CREDIT

1. What are the uses (functions) of money?



Ans. Goods are being bought and sold with the use of money. Services are being
exchanged with money.

2. What is double coincidence of wants?

Ans: When both parties have to agree to sell and buy each other’s commodities.
This is known as double coincidence of wants. What a person desires to sell is
exactly what the other wishes to buy.

3.

4. What is barter system?
Ans: Barter system is a process where goods are directly exchanged without the
use of money, double coincidence of wants is an essential feature.

5. What is the role of banks in the economy? (How do banks mediate between
those who have surplus money and those who need money?)

Ans. Banks mediate between those who have surplus funds (the depositors) and
those who are in need of these funds (the borrowers). Banks make use of the
deposits to meet the loan requirements of the people. Banks charge a higher
interest rate on loans than what they offer on deposits.

6. What are the modern forms of currency?
Ans: Paper notes, coins, demand deposit, cheque, debit card, credit card.

7. Why is the currency accepted as a medium of exchange?

Ans. It is accepted as a medium of exchange because the currency is issued by
Reserve bank of India and authorised by the government of India.

8. What is demand deposit?

Ans. People deposit amount with the banks by opening a bank account in their
name. People also have the provision to withdraw the money as and when they
require. Since the deposits in the bank accounts can be withdrawn on demand,

these deposits are called demand deposits.

9. What do you mean about credit?

Ans. Credit (loan) refers to an agreement in which the lender supplies the borrower
with money, goods or services in return for the promise of future payment.



10. What are the terms of credit?
Ans. Interest rate, collateral, documentation requirement, mode of repayment

11. What is Collateral?

Ans. Collateral is an asset that the borrower owns (such as land, building,
vehicle, livestocks, deposits with banks) and uses this as a guarantee to a

lender until the loan is repaid.

12. What is the difference between the sources of formal sector or informal sector
credit?

Ans:

Formal sources of credit Informal source of credit

The Reserve Bank of India There is no organisation

supervises the functioning of  which supervises the credit

formal sources of loans. activities of lenders in the
Rate of interest low. informal sector.
Mode of repayment easy. Rate of interest high

Mode of repayment tough.

13. What is debt-trap?

Ans: A debt trap is a situation when a borrower is unable to repay his scheduled
loan and takes another loan and gets caught in a cycle of credit.

14. Why do we need to expand formal sources of credit in India?

Ans. Compared to the formal lenders, most of the informal lenders charge a much
higher interest on loans. Thus, the cost to the borrower of informal loans is much
higher.

In certain cases, the high interest rate for borrowing can mean that the amount to
be repaid is greater than the income of the borrower. This could lead to increasing
debt.

For these reasons, banks and cooperative societies need to lend more.

15. What is the basic idea behind the SHGs for the poor?
Ans. The idea is to organise rural poor, in particular women, into small Self-Help
Groups (SHGs) and pool (collect) their savings.

I. SHG has 15-20 members. \



Il. Saving per member varies from Rs 25 to Rs 100 or more, depending on the
ability of the people to save.

ii. Members can take small loans from the group itself to meet their needs.

Iv. The group charges interest on these loans but this is still less than what the
moneylender charges.

16. What are the reasons why the banks might not be willing to lend to certain
borrowers?
Ans. Bank loans require proper documents and collateral. Absence ofcollateral is

one of the major reasons which prevents the poor from getting bank loans.

17. Analyse the role of credit for development.

Ans. Credit is one of the major aspects that determine a country’s development.

I. There is a huge demand for loans for various economic activities.

1. Cheap and affordable loans give people an opportunity to develop their
business.

Iii. Farmer can borrow money and use it to adopt modern farming methods to
increase the crop production and grow crops which are more reliable than the
traditional methods.

Iv. This leads to increased production, employment and profits that ultimately help
in the development of the country.

18. How does money solve the problem of double coincidence of wants?

Ans. In a barter system where goods are directly exchanged without the use of
money, double coincidence of wants is an essential feature.In contrast, in an
economy where money is in use, money by providing the crucial intermediate
steps eliminates the need for double coincidence of wants.

19. In what ways does the Reserve Bank of India supervise the functioning of
banks? Why is this necessary?

Ans. The Reserve Bank of India seen that the banks maintain a minimum cash
balance out of the deposits they receive.

The RBI monitors the banks in actually maintaining cash balance.The RBI sees
that the banks give loans not just to profit-making businesses and traders but also
to small cultivators, small scale industries, to small borrowers etc.

Periodically, banks have to submit information to the RBI on how much they are
lending, to whom, at what interest rate, etc.



20. Why are most of the poor households deprived from the formal sector of loans?
Ans. Most of the poor households are deprived from the formal sector of loans

because they do not have the proper documents and collateral to keep with the
banks.

GLOBALISATION AND THE INDIAN ECONOMY

1. What is globalisation?

Ans: Globalisation is process of rapid integration or interconnection between
countries. The countries are connected by movements of goods, services,
investments and technology.

2. What are Multi-National Corporations (MNCs)?

Ans: A Multi-National Corporation (MNC) is a company that owns or controls
production in more than one nation. The goods and services are produced globally.
The production process is divided into small parts and spread out across the globe.

3. What is the meaning of investment?

Or

Define the term investment.

Ans: Investment can be defined as money spent for buying the inputs for
the production like land, buildings, machines etc.

4. What is meant by trade barrier?
Ans: Restrictions set by the government to increase or decrease (regulate) the
foreign trade is what called trade barrier.

5. What do you understand by the term ‘Foreign Direct Investment’?

Ans: FDI is the investment of foreign capital in the economic and productive
activities of a country by foreign companies or MNCs with the aim of expanding
capacity and production to earn profits.

6. Give one characteristic feature of a ‘Special Economic Zone’?
Ans:



I. Special Economic Zones or SEZs are industrial zones set up by the government
having word class facilities such as electricity, water, roads, transport, storage,
recreational and educational facilities.

il. Companies who set up production units in SEZs are exempted from taxes for an
initial period of five years.

7. Why do MNC:s set up their offices and factories in those regions where they get
cheap labour and other resources?

Ans: MNCs set up offices and factories for products in regions where they can get
cheap labour and other resources so that—

I. The cost of production is low

il. The MNCs can earn greater profits.

8. How information and communication technology is useful in foreign trade?
Ans: Telecommunication facilities — telegraph, telephone including mobile phones,
fax etc. are used to contact one another around the world, to access information
instantly, and to communicate from remote areas.

9. What do you understand by globalisation? Explain in your own words.

Ans: Globalisation means integrating the economy of a country with the
economies of other countries under conditions of free flow of trade, capital and
movement of persons across borders. It includes

I. Increase in foreign trade

Ii. Export and import of techniques of production.
ii. Flow of capital and finance from one country to another
Iv. Migration of people from one country to another.

10. Globalisation will continue in the future. Can you imagine what the world
would be like twenty years from now? Give reasons for your answer.

Ans: After twenty years, world would undergo a positive change which will
possess the following features—

I. Healthy competition,

il. Improved productive efficiency

ili. Increased volume of output.

Iv. Income and employment

v. Better living standards,

vi. Greater availability of information and modern technology.



These are the favourable factors for globalisation :

I. Availability of human resources both quantity wise and quality wise.
1. Broad resource and industrial base of major countries.

Ii. Growing entrepreneurship

iv. Growing domestic market.

11. Explain any five advantages of globalization.

Ans: Five advantages of Globalization are :

I. Under this process, goods and services along with capital, resources and
technology can move freely from one nation to another.

. It has increased the movement of people between countries.

ili. People usually move from one country to another in search of better income,
better jobs or better education.

iv. Earlier the movement of people between countries was less due to various
restrictions.

v. Globalization has resulted in greater competition among producers and has been
of advantage to consumers, particularly the well-off section.

12. “Globalization means integrating the economy of the country with the world
economy’” Explain with reasons.

I. Rapid improvement in technology has been one major factor that has stimulated
the globalization process.

Il. For instance, advancement in transportation technology has made much faster
delivery of goods across long distances possible at lower costs.

1. Container services have led to huge reduction in port handling costs.

iv. The cost of air transport has fallen which has enabled much greater volumes of
goods being transported by airlines.

v. Developments in information and communication technology (IT in short) has
brought a revolution in telecommunications.

vi. It has made e-banking, e-commerce, e-learning, e-mail and e-governance a
reality.

vii. Rich people now enjoy improved quality and lower prices for several products.
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Generallnstructions:

1.

The question paper consists of 14 questions divided into 3 sections
A,B,C.

All questions are compulsory.

Section A comprises of 6 questions of 2 marks each . Internal choice has
been provided in two questions.

Section B comprises of 4 questions of 3 marks each . Internal choice has
been provided in one question.

Section C comprises of 4 questions of 4 marks each . An internal choice
has been provided in one question . It contains two case study based
questions.

SECTION A



1. Ifx= And x=—3 are roots of the quadratic equation ax*+7x+b=0 ,find

z the values of a and b.

OR

Find the nature of roots of the quadratic equation 2x°— 5x+1=0.

2. If the n"term of a sequence is 3- 2n.Find the sum of fifteen terms.

3. Inthe glven fi ure from %[t)omt P ,two tangents PT and PS are drawn to
CII‘ h céntre’O suc hat
T=12 Oc Prove that OP=2PS.

2. From a solid cylinder whose height is 2.4cm and diameter 1.4cm , a
conical cavity of the same height and same diameter is hollowed out .

Find the volume of the remaining solid to the nearest cm®. Use n=%

5. Find the unknown entries a, b, c, d in the following distribution of heights
of students in a class:

Height (incm)  [Frequency CumulativeFreq
uency

150-155 12 12

155-160 a 25

160-165 10 b

165-170 C 43

170-175 5 A8

175-180 2 d
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Find the mode of the following distribution:

Classes 25-30 30-35 35-40 40-45 45-50 50-55
Frequency 25 34 50 42 38 14
OR

Consider the following distribution:
Marks 0 or 10 or 20 or 30 or 40 or 50 or
Obtained more more more more more more
Number of 63 58 55 51 48 42
students

@y Calculate the frequency of the class30-40.

i) Calculate the class mark of the class10-25.

SectionB

9.

A girl on a ship standing on a wooden platform, which is 50 m above
water level , observes the angle of elevation of the top of a hill as 30° and
the angle of depression of the base of the hill as 60° .
distance of the hill from the platform and the height of the hill.

Draw a circle of radius 3 cm. Take two points P and Q on one of it
sextended diametereachatadistanceof 7 cm from its centre .

1 Solvg for X2x 3. C1 -2
x+2 X—2

¢ If 7" term of an AP is land_;)”’term isl find 63" term.

tangents to the circle from the set wo points P and Q.

OR

Calculate the

Draw



Draw a line segment AB of length 7 cm. Taking A as centre, draw a circle
of radius 3 cm and taking B as centre, draw another circle of radius 2cm .
Construct tangents to each circle from the centre of the other circle.

SectionC

11.  The angles of depression of the top and bottom of an 8 m tall building
from top of a multi-storeyed building are30°and45°,respectively. Find
the height of multi-storey building and distance between two
buildings.

12. Twa tangents PA and PB are drawn from an external point P to a
circle_with centre O, such that + APB=+x
and +AOB=y. Prove that opposite angles are supplementary.

OR

Two tangents PA and PB are drawn from an external point P to a circle
with centre O, such that + APB_=+x
and +AOB-=y. Pr ve that opposite angles are supplementary.

13, Atal Tunnel (also known as Rohtang Tunnel) is a highway tunnel built
under the Rohtang Pass in the eastern Pir Panjal range of the Himalaya
son the Leh- Manali Highway in Himachal Pradesh. At a length of 9.02
km , it is the longest tunnel above 10,000 feet (3,048m) in the world and
IS named after former Prime Minister of India, Atal Bihari VVajpayee. The
tunnel reduces the travel time and over all distance between Manali and
Key long on
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The way to Leh. Moreover, the tunnel by passes most of the sites that were
pro net or adblockades, avalanches, and traffics narls.

Earth is excavated to make a railway tunnel. The tunnel is a cylinder of
radius 7 m and length 450 m. A level surface is laid inside the tunnel to
carry the railway lines. Figure given below shows the circular cross —
section of the tunnel. The level surface is represented by AB , the centre of
the circle is O and +AOB = 90c. The space below AB is filled with rubble

(debris from the demolition buildings).

@ How much volume of earth is removed to make the tunnel?
@iy A coating is to bed one on the surface of inner curved part of
tunnel.What is the area of tunnel to be being coated?

14, Life insurance is a contract between an insurance policy holder and an



insurer or assurer, where the insurer promises to pay a designated
beneficiary a sum of money upon the death of an insured person
(often the policyholder). Depending on the contract, other events such
as terminal illness or critical illness can also trigger payment.The
policy holder typically pays apremium, either regularly or a sone
lumpsum.

SBI life insurance agent found the following data for distribution of ages of
100 policy holders. Calculate the medianage, if policies are given only topers
on shaving age 18years onwards but less than 60 years.
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Age (in Number of
years) policy holders
Below?20 2
Below?25 6
Below30 24
Below35 45
Below40 78
Below45 89
Below50 92
Below55 98
Below60 100

@ What is the median value of age?
@iy What is the mode value of age?
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General Instructions:

1. The question paper consists of 14 questions divided into 3sections A, B,
C.

2. All questions are compulsory.

3. SectionA comprises of 6 questions of 2 marks each . Internal choice has
been provided in two questions.

a. Section B comprises of 4 questions of 3 marks each. Internal choice has



been provided in one question.

5. Section C comprises of 4 questions of 4 marks each . An internal choice
has been provided in one question. It contains two case study based
questions.

SECTIONA

Show that(a- b)%,(a’+ b?)and(a+b)%are in AP.
OR
If~§~, a,4 are three consecutive terms of an A.P.,then find the value of a.

A vertical pole is 100 metres high. Find the angle subtended by 3 metr
the pole at a point on the ground 100 From the base of the pole. s

PQ is atangent to a circle with centre O at point P. If TOPQ is an
isosceles triangle,then find +OQP.



4. If the radius of the sphere is increased by 100% , then how much volume
of the corresponding phere is increased?

5. The diameter of a sphere is 6cm. It is melted and drawn into a wire of
diameter 2 mm. What is the length of the wire?

6. If the mean of the observationx, x+ 3,x+ 5,x+7 and x+ 10 is 9, the find
the mean of the last three observation

OR
Find the class — marks of the classes 10-25 and 35-66.

Section B

7. Prove that the tangents drawn at the ends of a diameter of a circle are
parallel.

8. Water is being pumped out through a circular pipe whose internal
diameter is 8cm. If the rate of flow of water is 80cm/s, then how
many litres of water is being pump doubt through this pipe in one
hour?

9. Compute the mode for the following frequency distribution:

Size of items(in 0-4 4-8 8-12 |12-16 |16-20 |20-24 |24-28
cm)

Frequency 5 7 9 17 12 10 6

10. The mean of the following frequency distribution is 18. The
frequency fin the class interval 19-21 is missing. Determine f.

Class interval |11-13 |13-15 |15-17 [17-19 |19-21 [21-23 |23-25




Frequency 3 6 9 13 f 5 4

OR
Compute the mode for the following frequency distribution:

Size of items(in  |0-4 |4-8 |8-12 |12-16|16-20 |20-24 |24-28
cm)
Frequency 5 7 9 17 12 10 6

SectionC

11.  If Sudenotes the sum of first n terms of an AP, prove that, S30=3"S;0—S10h

12.  Draw two tangents to a circle of radius4cm, which are inclined to each
other a tan angle of 60 c .

OR

Draw two concentric circle of radii 3 cm and 5cm . Taking a point on
the outer circle, construct the pair of tangents to the inner circle.

13.  Model Rocketry : A model rocket is as mall rocket designed to reach low
altitudes and be recovered by a variety of means. Flying model rockets is
a relatively safe and inexpensive way for person to learn the basics of
forces and the response of a vehicle to external forces. Like an airplane, a
model rocket is subjected to the forces of weight, thrust, and aero
dynamics during its flight.
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Shalvi is a member of first rocket club of India named STAR Club.
She launches her latest rocket from a large field. At the moment its
fuel is exhausted, the rocket has a velocity of 240 ft/ secand an
altitude of 544ft. After t sec, its height h(t ) above the ground is given
by the function
h(t )=—16 2+240t+544.

@ What is the maximum height attained by the rocket?

giy How many seconds was the rocket air borne after its fuel was

exhausted?

Well Embankment: Well embankment is a raised wall that is built
around the well. These are often constructed using soils obtained
from a digging well. It provide protection topers on from felling into
the well.

A well of diameter 6 mis dug 14 m deep embankment.



of the earth taken out is
spread evenly all around the
well to form



@ Find the volume of the earth taken out.
iy If the height of embankmentis 1.2m, what is the width
of the embankment?

KENDRIYA VIDYALAYA, JAMALPUR
Question Bank
(50 IMPORTANT QUESTIONS)
SESSION-2021-22

CLASS-X
SUBIJECT-
MATHEMATICS

1) Find the value of K for which the equation 9x*+2Kx+1=0
have real roots.

ANS: Real roots, D>0, K>3 0ORK <3

2)  Find the value of fifth equation x*>-2 (K+1) x+K”=0 has
equal roots.

ANS: Compare the given equation from ax*+bx+c=0a=1,b= -
2(k+1),c =k*,D=0,thenk=-1/2

3) Find the roots of
x* -3x -10 =0
ANS: x= (-2,5)

4) The product of two consecutive odd numbers is 483. Find



the numbers.

ANS: Let the first odd number be x and consecutive odd number be
(x+2) X. (x+2) = 483, x* +2x -483=0

Xx=21,23

5)The hypotenuse of right angled triangle is 6 meters.
more than twice the shortest side. If the third side is 2
meters. less than the hypotenuse, then find all the sides of
the triangle.

ANS: Let the length of the shortest side be x meters. According to
question hypotenuse = (2x+6)Third side= (2x+6-2) =2x +4

6)Find the roots of quadratic equation 16 x* -24 x-1
=0 by using the quadratic formula ANS: x=3+V10/4
,3-V10/4

7) Riya has a field with a flowerbed and grass land. The
grassland is in the shape of rectangle while flowerbed is in
the shape of square. The length of the grassland is found to
be 3 meters more than twice the length of the flower bed.
Total area of the whole land is 1260m”.



Grass Flower bed

i If the length of the flower bed is x meters, then what is the
total length of the field? (2Marks)
(i) What is the area of grassland? (2 Marks)
ANS: (i) (3x+3)m.
(i) 860 m”.

8) Which terms of an AP 21,42,63...is 210, Solve.

ANS:10 [a=21,d=21then use formula of last term 210=21+(n-1)21 &
div.by 21]

9) Find 4™ term from the end of the AP: -11,-,8,-5,...49.

ANS:40 [rewrite A Pin reverse order a=49, d=-11+8=-3 then 4" term
from the end =49+(4-1)(-3)=40]

10) Write down the first four terms of an AP when a=-5, d -3
ANS:—5,—8,—11,-14 [use a, a+d,a+2d,a+3d where a=-5&d=-3]

11) Find the 31* term of an A.P. whose 11" term is 38 and
16" term is 73.

ANS: 178, [a+10d=38 &a +15d=73,then a=-32 & d=7 so
31% term=-32+30(7)]

12) How many terms of the AP 9,17,25...must be taken to give



a sum of 6367

ANS:

12, [S, =2 {2a + (n— 1)d},636 = ={2(9) + (n — 1)(8)},
636 = n{5 + 4n} gives n = 12|

13)Find the sum of the first 40 positive
integers divisible by 6

ANS:

4920, [Sum of first 40 positive integers which are divisible by 6 = 6,12,18,24,.... 40

{4u(+n+1}}
2

terms = 6x {sum of first 40 natural Nos.} =6 x =4920]



14) A road roller (sometimes called a roller-compactor,
or just roller) is a compactor-type engineering vehicle
used to compact soil, gravel, concrete, or asphalt in
the construction of roads and foundations. Similar
rollers are used also at landfills or in agriculture. Road
roller share frequently referred to as steamrollers,
regardless of their method of propulsion. RCB Machine
Pvt Ltd started making road roller 10 year ago.
Company increased its production uniformly by fixed
number every year. The company produces 800 rollers
in the 6th yearand1130rollers inthe9thyear.

On the basis of the above information, answer any four of the
following questions:

() Find the company’s production in first year.
i) Inwhichyearthecompany’sproductionwas1350rollers?

@ 5™ (b)6th



(c)11th (d)
9ANS:

i) Production in 6™ year = 8009" year=1130, means
a6=800 & as=1130 Means a+5d=800 & a+8d=1130 we get
a=250 and d=110 First year production=250

i 11" year, [apply nth term =a+(n-1)d,
1350=250+(n-1)110 we get n=11]

15)If PT is a tangent at T to a circle whose center is O and
OP=17cm, OT= 8cm, Find the length of the tangent
segment PT.

ANS: 15cm

16) If TP and TQ are two tangents to a circle with center O so
that £POQ = 110°, then, what is the value of ZPTQ?

ANS: 70°



17)A quadrilateral ABCD is drawn to circumscribe a circle.
Prove that AB+ CD=AD +BC

18)What is the length of the tangent PQ at a point P of a
circle of radius 12cm meets a line through the Centre O
at a point Q so that 0Q=20 cm.?

ANS: 16cm

19) There are two concentric circle with center O of radii
5cm and 3cm. From an external point P, tangent PA and PB
are drawn to the circles. If AP=12cm,Find the length of BP.

ANS:4V10 cm

20) A is a point at a distance 13 cm from the Centre 0 of a
circle of radius 5 cm. AP and AQ are the tangents to the circle
at P and Q. If a tangent BC is drawn at a point R lying on the

minor arc PQ to
Intersect AP at Band AQ at C, find the perimeter of the AABC.



ANS: 24cm

21)There girls Reshma, Salma, Mandeep are playing a game
by standing on a circle. Reshma throws a ball to Salma,
Salma to Mandeep, Mandeep to Reshma. The distance
between Reshma and Mandeep is 6m, and between Reshma
and Salma is 8m if O is the center of the circle, then




1. Find diameter of the circle

a) 6mb) 8m ¢)10md)12m

2. Measure of MRS

a)180° b)90°  ¢)100° d)80°

3.Area of the ARMS is

a) 10m*b)20cm? c)24cm®  d)40cm?
4.) length of the longest

chord of the circle.

a)ém b)8m ¢)10m d)12m

5) The radius of the circle is
a)ém b)3m c)4m d)5m

ANS: 1:-¢)10m
2 :-b) 90°
3 :-c)24cm?
4 : -d)10m5:-5m

6) In the given figure, A1,A2,A3---and B1,B2,B3, are marked at
equal distances . Answer the Following questions.
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(1) In what ratio point C divides AB ? [Ans: 8:5]
(i1) If AB = 13cm then find the length of AC. [Ans: 8cm]

Q.2, Inthe given figure, A1, A2, A3, A4, AS are marked at equal distances. Answer the following
questions.

(1) In what ratio point C divides AB? | [Ans: 3:2]
(i1) If AB = Scm then find the length of AC. [Ans: 3cm]



7) In the given figure, A1, A2, A3, A4, A5 are marked at
equal distances. Answer the following questions.

i In what ratio point C divides AB? [Ans:3:2]
i) If AB= 5cmthen find the length of AC. [Ans:3cm]

8) Draw a line segment of length 6 cm. Using compasses
and ruler, find a point P on it which divides it in the
ratio3:1.

Soluti
A<4——6cm —»B

Steps of Construction : |. Draw AB = 6 cm with the help of scale.
2. Draw any ray AX, making an acute angle with AB.
3. Locate4 (=3 + 1) points A1, A2, A3 and A4 on AX sothat AAl =Al A2=A2 A3=A3 A4 .

4. Join BA4 .
5. Through the point A3 (m = 3), draw a line parallel to A3 P (by making an angle equal to £
AA4B) at

A3 intersecting AB at the point P. Then, AP:PB=3: |

9) Draw a pair of tangents to a circle of radius 3 cm, which
are inclined to each other at an angle of60°.

10) Draw a circle of radius 4 cm. From a point P, 9 cm away
from the centre of the circle, draw two tangents to the
circle. Also, measure the angle between two radii through



point of contacts of two tangents.



Solution:

Steps of construction:

A circle, with centre O and radius 4 ¢m 1s drawn.

A point P is taken, outside the circle at a distance of 9 cm from O.

Perpendicular bisector of OP is drawn, meeting OP at L.

With L as centre and OL as radius a circle 1s drawn meeting the given circle at A and B.
PA and PB are joined.

Then PA and PB are the required tangents to the circle and PA = PB = 6.7 ¢cm (approx.)

bt s s
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11) Draw a circle of radius 4cm. Mark a point P on it .Draw
a tangents passing through it. Measure the angle between
two tangents at P.

Solution:

W

Now after measuring, PA and PB comes out to be 4 cm.
Steps of construction of tangents:

Take point O. Draw 2 concentric circles of radii 3 cm and 5 cm respectively.

Locate point P on the circumference of larger circle.

Join OP and bisect it. Let M be mid-point of OP.

Taking M as centre and MP as radius, draw an arc intersecting smaller circle at A and B.
Join PA and PB. Thus, PA, PB are required tangents

S e

12) Draw two tangents to a circle of radius 4 cm from a point
P at a distance of 6 cm from its centre. Measure the angle
between two tangents.



13) Draw a pair of tangents to a circle of radius 6cm which
are inclined to each other at an angle
of60°.Alsofindthelengthofthetangent.

14) In the figure, AB is a 6m high poleand CD is a ladder
inclined at an angle of 60°to the horizontal

And reaches up to a point D of pole. If AD=2.54m. Find the length of
the ladder. (UseV3=1.73)



4dm

15)The tops of two towers of height x and y, standing on
level ground, subtend angles of 30° and 60°respectively at
the centre of the line joining their feet ,then find x:y.

ANS:1:3

16) The angles of depression of two ships from the top of a
light house and on the same side of it are found to
be45°and30°.Iftheshipsare200mapart, find the height of
the light house.

ANS:273m

17) The angle of elevation of the top of the tower from two
points at the distance of 4m and 9mfrom the base of the
tower and in the same straight line with it are
complementary. Find height of tower?

ANS: 6m

18) The angles of elevation and depression of the top and
bottom of a lighthouse from the top of abuilding,60mhigh,
are30°and60°respectively.Find

i The difference between the heights of the light house and



the building.

(i) Distance between the light house and the building.
ANS: (i) difference between two light house=20m

iy distance between light house and building=34.64m

19)A vertical tower stands on a horizontal plane and is
surmounted by a flagstaff of height 5 m. From a point on the
ground the angles of elevation of the top and bottom of the
flagstaff are 60° and30°respectively.Find

(1).The height of the tower .
(2)The distance of the point from the tower. (TakeV3=1.732)
ANS: (i)Height of the tower =2.5m

(if)Distance of point of the point of the tower =4.33m



20) A group of students of class X visited India gate on an
education trip the teacher and students had interested in
history as well. the narrate the India gate. Official name Delhi
Memorial originally called All- India War Memorial,
monumental sand stone arch in new Delhi dedicated to the
troops of British India who died in wars fought between 1914
and 1919. The teacher also said that india gate, which is
located at the eastern end of the Rajpath (formerly called the
Kingsway) is about 138 feet(42metres) in height.

i if the altitude of the sunis at 600 . then the height of the
vertical tower that will cast a shadow of length 20mis?

i) The ratio of the length of a Rod and its shadow is 1:1.The
angle of elevation of the sun is?

5 i

ANS: (1)20V3m (ii) 45°

21) Atoy isin the shape of a right circular cylinder with
hemisphere at one end and a cone at the other. The radius
and height of the cylindrical partare 5 cm and 13 cm
respectively. The radii of the hemispherical and conical parts
are the same as that of the cylindrical part. If the total
height of thetoyis30cm, find the total surface area of the
toy.



ANS: 770cm?

38).Three cubes of a metal whose edges are in the ratio 3:4:5are melted
and converted into a single

cube whose diagonalis12V3cm.Find the edges of the cubes.

ANS: 6cm,8cm,10cm

39) A cone of maximum size is carved out from a cube of
edge 14 cm. Find the surface area of the cone and the
remaining solid left after the cone carved out.

ANS:  154(1+V5)%(1022+154V5)cm

40)A sphere of diameter 18 cm is dropped into a cylindrical
vessel of diameter 36 cm, partly filled with water. If the
sphere is completely submerged, then calculate the rise of
water level in cm

a1). Find the number of solid spheres, each of diameter 6 cm
that can be made by melting a solid metal cylinder of
height 45 cm and diameter 4 cm.



42). A solid right circular cone is cut into two parts at the
middle of its height by a plane parallel to its base. Find the
ratio of the volume of the smaller cone to the whole cone.

43) Adventure camps are the perfect place for the children to
practice decision making for themselves without parents and
teachers guiding their every move. Some students of a school
reached for adventure at Sakleshpur. At the camp, the
waiters served some students with a welcome drink in a
cylindrical glass and some students in a hemispherical cup
whose dimensions are shown below. After that they went for
a jungle trek. The jungle trek was enjoyable but tiring. As
dusk fell, it was time to take shelter. Each group of four
students was given a canvas of area 551 m2 . Each group had
to make a conical tent to accommodate all the four students.
Assuming that all the stitching and wasting incurred while
cutting, would amount to 1m2, the students put the tents.
The radius of the tent is7m.



() The volume of cylindrical cup is

2)295.75cm’ b)7415.5cm>c) 384.88cm>d)404.25¢cm®

i) The volume of hemispherical cup is

a)179.67cm’ b)89.83cm>c)172.25¢cm>d)210.60cm®

i) Which container had more juice and by how much?



a) Hemispherical cup,195cm
b)Cylindrical glass, 207cm®
c) Hemispherical cup,280.85cm®
d) Cylindrical glass,314.42cm®

ivy The height of the conical tent prepared to
accommodate four students is
a)18m b)10Om  c¢)24m d)14m
vy How much space on the ground is occupied by
each student in the conical tent
a) 54m>  b)38.5m’ c)86m’ d) 24m?
ANS: (i) d) 404.25cm®
i) b)89.83cm’
iind)Cylindricalglass,314.42cm’
(iv) €)24m
(v)b)38.2m’

aa) Write the modal class for the following frequency
distribution

Class Interval 010 10-20 20— 30 30—-40 40— 50

Frequency 5 7 4 10 -

ANS:30-40



a5) Find the class size of the given class intervals

Class Interval 0-6 6-12 12—18 | 18-24 24 -30 30-46

Frequency 3 5 7 4 9

b

ANS:6

a6) Find the cumulative frequency of the class interval 20 —25
in the given frequency distribution.

Class Interval 0-5 5-10 10-15 15-20 | 20-25 25-30

Frequency 8. 12 8 3 3 2

ANS: 30

47 From the following frequency distribution, find the median
class.



Monthly wages

Number of workers

18000 — 24000

24000 — 30000

30000 — 36000

36000 — 42000

42000 — 48000

48000 — 54000

54000 — 60000

ANS: 36000-42000

a8) Find the mode of the following frequency distribution.

Class Interval Frequency
0-10 10
10 -20 14
20-30 12
30-40 8
40— 50 9
ANS: 16.67

29) The percentage of marks scored by 40 students of class

X in their board examination is given below in the table.

Find the mean and modal percentage of their marks.

Percentage | 30—-40 | 40-50
of marks

50 - 60

60— 70

70 — 80

30 —90

90 — 100

MNumber of [ 14
siudents

12

ANS:  Mean percentage of marks is 64.70 and modal percentage of

marks is 63.33.




s0) . In a Vidyalaya there are two sections A and B. 39
students are there in section A and in section B there are 41
students. A periodic test was conducted to assess the
performance of students there after analyze and plan the
teaching learning process accordingly. The marks obtained
out of 40aregiven below in the table.

(i) How many students have obtained more than or equal
to35marks?



i) Arrange the given data in class interval and find the median of the
marks obtained

Marks obtained by the students Number of students

Less than 5 3
Less than 10 12
Less than 15 22
Less than 20 35
Less than 25 42
Less than 30 60
Less than 35 71

Less than or equal to 40 80

ANS:Hint: Convert the less than type data into class
intervals. (i) 80-71 =9

(if)Median of the marks obtained is 21.92
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